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NPEAUCNOBUE

Yye6Ho-meToauueckas paspabotka “English for Advanced Students”
npeaHasHayeHa ANA pasBUTUA HaBbLIKOB CcaMocTosiTenbHow paboTbl y
CTyAeHTOB 1-4 KypcOB 3KOHOMWYECKUX crneuuanbHoCcTen AHEBHOW (opMbl
obyuyeHuns. Jlekcuko-rpaMMaTMyeckue TecTbl MOryT WUCNONb3OBaTbCA ANA
camocTosTeNbHOW paboTbl CTyAEeHTOB NoA KOHTponem npenoaasaTtens C
Uenblo TeKyu\ero KOHTPONS 3HaAHUA BO BPEMS NPaKTUYECKUX 3aHATUA.
Martepnan gaHHOW pa3paboTkun MOXeT Takke UCNonb3oBaTbCs AN paboTbl
CO CTyAeHTamu NPOABWHYTOFO YPOBHS B pamkax AuddepeHunpoBaHHOro
nogxoga kK obyyeHnuto. [MpeanoXeHHble TeCTbl TakKe MOryT NOCMYXUTb
MaTtepuanoMm Ans CaMoCTORTeNnbHoW paboTbl cTyaeHToB 6e3 KOHTpONs
npenoaasaTtens C Uenblo CaMOMNOArOTOBKW, MOBTOPEHUS WU3YYEHHOro W
CaMOKOHTPONS.

HanHas paspaboTka coaepxuTt 49 nekcuko-rpammaTuyeckux Tectos. [lo
CNOXHOCTU NEKCUKO-rpaMMaTU4ecKoro martepuana TecTbl AeNnsTCs Ha Tpu
kateropun: Intermediate (paspen 1), Upper Intermediate (pasgen 2) wu
Advanced (paspgen 3). B npunoxeHun npeanoxeHa wWkana oOUEHKU
(camooueHku) pe3ynbTaToB BbiNONHEHHOro TecTa.

Aemopsi



UNIT 1 LEXICAL-GRAMMAR TESTS (INTERMEDIATE LEVEL)
Test1

1) Choose the right translation: "ckuaka”

A)discount  B)outcome C)duty D) interest

2) Choose the right translation: "npucyrcTBoBaThb Ha pbiHke"

A) to come to the market B) to achieve an equilibrium

C) to be in great demand D) to be on the market

3) Choose the right translation: o6veauHenue, cnuaxHne

A) mixing B) merger C) merge D) mingler

4) Complete the sentence: ...is the study of how individuals and societies choose to
use the scarce resources that nature and previous generations have provided.

A) Finance  B) Business C) Economics D) Microeconomics

5) Find the word corresponding to the given definition: The work of factories and
large organizations generally.

A) Output B) Efficiency  C) Industry D) Economics

6) Insert the prepositions if necessary: | would he very happy to meet you ...my
office...the day you suggested.

A)in; on B) on; in C)at; - D) in; for

7) Insert the prepositions if necessary: Entrepreneurship is supplied... an
individual who is willing to take risks...return...profits.

A) by, for, for B) to, in, of C) with,tlo, for D) by, in, for
8) Choose the right translation: "economic interdependence"”

A) 3KOHOMMHYECKan B3avMO3aBUCUMOCTb B) akoHOoMU4eckas He3aBMCUMOCTb
C) 3KOHOMMUYECKUA YNaaoK D) akoHOMUu4eckuiA pocT

9) Choose the right translation: "to solve urgent problems”

A) umeTtb Honbimne npobnemsb! B) nogHumaTts psg npobnem

C) pewaTb HacyuyHble Nnpobnems! D) pewatb TpyAHbIE Npobnems!
10) Choose the right translation: "means of production”

A) NpoAYKTHI NPOW3BOACTBA B) cpeacTBa npou3BoACTBa

C) 3HaueHue npou3BoaCTBa D) uenb npounssoacTBa

11) Complete the sentence: ... is the total of tools, equipment, machines and
buildings used to produce goods and services.

A) Entrepreneurship B) Capital C) Macroeconomics D) Labour
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12) Fill the words in the blanks: While aerobics is in fashion, the... for "body wear” is
sufficient (cnpoc).

A) research B)demand C) requirement D) inquiry

13) Put the verb in brackets into the right form: My friend (work) for the same
company for fifteen years by next year.

A) will be working B) will work

C) will have been working D) will have been worked

14) Put the verb in brackets into the right form: This food (to make) in China.
A) made B) was made C) was making D) make

15) Find out in what part of the sentence there's a mistake: They advised (1) to us (2)
to contact (3) them in (4) summer.

A)1 B)2 C)3 D)4

16) Choose the correct translation: OH cipocun MeHs, Kyda s NOAOXUN omyem.
A) He asked me where | had put the report.

B) He asked to me where | had put the report.

C) He asked me where had | put the report.

D) He asked me where | have put the report.

17) Choose the correct statement.

A) The process of finding the right person for each job is called innovating.
B) The process of finding the right person for each job is called organizing.
C) The process of finding the right person for each job is called directing.
D) The process of finding the right person for each job is called staffing.
18) Name the singular form of a noun: “people”

A) people B) man C) pipe D) person

19) Fill in articles if they are necessary: John, ... Sales Manager, has ... son, ...
daughter, ...two cousins and ... very good friends.

A) the, a, a, -, - B) the, the, the, the, the
C)a,a, a,a a D) the, a, the, a, the

20) Complete the sentence: Supply and demand have no ... in command-type
economies.

A) allocation B) interests C) influence D) equilibrium



Test2

1) Choose the right translation: "3aHumarbca yem-nu6o”

A) to engage smth B) to engage smb's attention

C) to be engaged by smth D) to be engaged in smth

2) Choose the right translation: "6e3pa6oTHbin "

A) unemployed B) employer C) employee D) employed
3) Choose the right translation: "pbiHok™

A) market economy B) supermarket

C) marketing D) marketplace

4) Find the word corresponding to the given definition: The type of advanced
society of a particular time or place.

A) Market B) Entrepreneurship C) Economy D) Monopoly

5) Complete the sentence: ...is the total of natural resources that can be used to
produce goods and services.

A) Capital B) Entrepreneurship C) Banking D) Land
6) Choose the right translation: "to make people better off”

A) ynyqwuTb NonoxexHue aen B) caenatb nioaen nyywe
C) ynyqwuTs 6narococrosHue nioaen D) noaaepxusats nioaen

7) Choose the right translation: "available”

A) pacxoayembli B) npoaaxHbIv

C) 3akasaHHbIv D) umetowmiics B Hanuuun

8) Choose the right translation: "distribution”

A) Toprosns B) npoaaxa C) pacnpeaenerue D) npou3soacTso

9) Insert the prepositions if necessary: Land, labour and capital are ... the control...
the government and entrepreneurship is supplied... government.

A) on; of; of B) under; of; by
C) under; in; with D) in; of; from

10) Insert the prepositions if necessary: ... addition, the government has become
involved... the economic system.

A)on;in B) with; on C) in; for D)in;in

11) Complete the sentence: ... is the total of human resources required to turn raw
materials into goods and services.

A) Production B) Labour C) Capital D) Entrepreneurship
6



12) Complete the sentence: Sometimes the manufacturer either has to... the quality
or offer lower prices (ynyqwums).

A) increase B) change C) improve D) prove

13) Put the verb in brackets into the right form: By two o‘clock the businessmen
(do) the letter translation for two hours tomorrow.

A) will have been done B) will have been doing
C) will do D) will be doing

14) Put the verb in brackets into the right form: Dora is printing the document. She
(print) the document since | came.

A) have printed B) has printed
C) is printing D) has been printing

15) Find out in what part of the sentence there's a mistake: Mr. Tompson used (1) to
working (2) in Manchester but now he has (3) a job in (4) London.

A)2 B) 1 C)4 D)3

16) Choose the correct translation: B monodocmu ToM yacmo xodun ¢ pabomsbi
domol newkom, a menepb e30um Ha aemoGyce.

A) When he was young Tom used to walk home from work and now he goes by bus.

B) When he was young Tom would walk home from work and now he goes by bus.

C) When he was young Tom used to walking home from work and now he goes by bus.
D) When he was young Tom ofteﬁ walked home from work and now he is going by bus.

17) Transform the sentences into Reported Speech: Mr. Robinson asked his
secretary, «Has anybody left a message for me?»

A) Mr. Robinson asked his secretary if anybody had left a message for him.

B) Mr. Robinson asked his secretary if anybody has left a message for him.

C) Mr. Robinson asked his secretary if anybody left a message for me.

D) Mr. Robinson asked his secretary that anybody had left a message for him.
18) Choose the right variant: The money ... on the table.

A) were B) to be C)is D) are

19) Complete the sentence: Sally went home, ...?

A) didn't she B) did she C) hasn't she D) had she

20) Fill in articles if they are necessary: Now he works ... five days... week.
A) -, - B)a a C)- a D) the, the



Test3

1) Choose the right transiation: "pykoBoautb npeanpuatuem”

A) to establish an enterprise B) to manage a unit

C) to run a business D) to direct an industry

2) Choose the right translation: "koHkypeHuus"

A) mining B) conquering C) competition D) peculiarity

3) Choose the right translation: “coBmecTHoe npeanpusaTtue "

A) partnership B) transnational company

C) cooperative D) joint venture

4) Choose the right translation: "market equilibrium"”

A) paBHoBECUE U PbIHOK B) paBHOBECHbBI PbIHOK

C) pblHO4HOE paBHOBECUHE D) pbiHOYHanA 3kBUNUOPUCTUKA
5) Choose the right translation: "standard of living”

A) CTUNb XU3HN B) onbiTHbIN 06pasey

C) ypoBEHb XU3HU D) xun3HeHHas HeobxoauMocTb

6) Choose the right translation: “household”

A) x03MH AOMa B) snaaeHve gomom C) pomaiuHee x03a1ucTBO D) gomoxo3ssinka

7) Find the word corresponding to the given definition: A person or company that
makes goods, foods or materials.

A) Seller B) Producer C) Economist D) Consumer

8) Fill the words in the blanks: Economists ... the number of losses for a given
period (npoaHo3upytom).

A) forbear B) foredict C) predict D) contradict

9) Insert the prepositions if necessary: Keep ... mind that economics will teach
you a new way...looking...the world.

A) in; of; at B)in; to; to C)on; of; to D) at; of; at

10) Fill in prepositions if they are necessary: Our university library is rich ...
business books and newspapers.

A) with B) at C) of D)in

11) Complete the sentence: ...exists when the quantity supplied exceeds the
quantity demanded at the current price.

A) Economic crisis B) Excess supply

C) Excess demand D) Market equilibrium
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12) Put the verb in brackets into the right form: How long you (work) here?

A) have you been working B) you have been working

C) have you worked D) you have worked

13) Put the verb in brackets into the right form: What makes you (do) such things?
A) to do B)do C) doing D) done

14) Find out in what part of the sentence there's a mistake: He made (1) me (2) to
answer (3) the (4) letter.

A)2 B) 1 C)4 D)3

15) Complete the sentence: ... deals with the functioning of national economic
complex and the behaviour of the main classes and social groups.

A) National economics B) Microeconomics
C) Economy D) Macroeconomics

16) Choose the correct translation: Cexpemaps cka3ana, ymo oHa neyamana
denoeble NnucbMa 8 meyeHue Yaca.

A) The secretary said that she had been typing business letters for an hour.
B) The secretary said that she has been typing business letters for an hour.
C) The secretary talked that she had been typing business letters for an hour.
D) The secretary said that she was typing business letters for an hour.

17) Transform the sentences into Reported Speech. «Can you come to our
interview on Saturday?* Ann said.

A) Ann said if | could come to our interview on Saturday.
B) Ann asked if | could come to my interview on Saturday.
C) Ann asked that | could come to our interview on Saturday.

D) Ann asked if | could come to her interview on Saturday.

18) Fill in articles if they are necessary: ... brochure is very interesting. All ...
numbers in it are quite impressive.
A)a, a B) the, the C) the, -- D) a, the

19) Put the verb in brackets into the right form: The news ... devastating.
A) to be B) were C) are D) was

20) Complete the sentence: If | ... time, I'll be there.

A) have B) has C) had D) will have



Test4

1) Choose the right translation: "aoxoa™

A) tax B) gain C) income D) investment
2) Choose the right translation: "pa6oronarens”

A) employer B) worker C) economist D) employee
3) Choose the right translation: "xpaHurb"

A) to exhibit B) to gain C) to store D) to save

4) Choose the right translation: “to be a success”

A) 6biTb HacneaHUKOM B) wumeTb ycnex

C) notepneTb Heyaauy, nposan D) 6biTb yaaunuebiM 4eNOBEKOM
5) Choose the right translation: “profit”

A) n3gepxku B) y6biTok C) npubbinb D) sbiropa

6) Choose the right translation: “a high level of production”

A) BbICOKMIA ypOBEHb NPOM3BOACTBA

B) BbiCOKOE KauecTBO NpoAyKUUU

C) BbICOKWUM 3TaX NPON3BOACTBEHHOIO 34aHNA

D) BbICOKWIA ypOBEHDb NPON3BOAUTENBHOCTH

7) Complete the sentence: ... is the method society uses to allocate its resources
to satisfy its needs.

A) Economy  B) Distribution C) Marketing D) Competition

8) Complete the sentence: ... is the group of skills and risks taking needed to

combine capital, labor and land to produce goods and services.
A) Experience  B) Entrepreneurship C) Education D) Energy

9) Complete the sentence: ... explores the decisions that individual businesses and
consumers take.

A) Political science B) Microeconomics
C) Macroeconomics D) Sociology

10) Find the word corresponding to the given definition: A person who buys and
uses goods and services.

A) Economist B) Entrepreneur C) Consumer D) Producer

11) Fill in prepositions if they are necessary: Boris works ... a driver ... his small
town ... the South.

A) as, in, in B) at, in, at C) like, in, in D) for, on, at
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12) Fill in prepositions if they are necessary: / think these trousers are... good
quality.

A) -- B) of C)on D)in
13) Form an adjective corresponding to the noun “monotony”:
A) monotonous B) monotype C) monotony D) monotone

14) Complete the sentence: Jack apologized to his boss for... late.

A) be B) having been C) will be D) being
15) Complete the sentence: Your sales are very high! You ... hard.
A) should have worked B) must have worked

C) should work D) must to work

16) Put the verb in brackets into the right form: [ (stay) at the hotel for a fortnight
when | received your letter.

A) had been staying B) have been staying
C) was staying D)is staying

17) Transform the sentences into Reported Speech: Mr. Smith told his secretary,
«Please get the documents ready.»

A) Mr. Smith told his secretary to get the documents ready, please.
B) Mr. Smith told his secretary that she got the documents ready.
C) Mr. Smith told his secretary to getting the documents ready.

D) Mr. Smith told his secretary to get the documents ready.

18) Choose the correct translation: OH monbko 4mo cka3an, 4mo enonHe
ydosenemeopeH pe3ynbmamom Hawel pabomsl.

A) He just said that he is quite satisfied with the results of our work.

B) He has just said that he is quite satisfied with the results of our work.
C) He just said that he was quite satisfied with the results of our work.

D) He has just said that he was quite satisfied with the results of our work.

19) Find out in what part of the sentence there's a mistake: He (1) was advised (2)
consulting (3) a lawyer (4).

A)3 B) 1 C)2 D)4
20) Name the singular form of a noun: “sheep”

A) sheep B) ship C) shepherd D) sheepman
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Test S
1) Choose the right translation: “"pa3amep 3apa6oTrHon nnarb!”
A) wage rate B) wage size C) wage sum D) wage standard

2) Choose the right translation: "uenb"

A) object B) subject C) target D) widget
3) Choose the right translation: "nocraBnaTs ToBapbI”

A) to supply goods B) to barter goods

C) to purchase goods D) to import goods

4) Choose the right translation: “to run a business”

A) Bectu aeno (ynpasnsTb A€N0M) B) 6exaTb Ha paboTy

C) aeno naet rnapko D) aeno 6bicTpo passusaeTcs
§) Choose the right translation: “wholesale”

A) onToBas Toprosns B) po3Hu4Has Toprosns

C) npoaaxa Bcero ToBapa D) npoaaxa ToBapa B kpeauT
6) Choose the right translation: “to arrange for smb to do smth”

A) AOroBopuTLCS O TOM, 4TOBOLI caenaTb YTo-NM60o

B) opranu3osatb 4To-nu60 ANs koro-nubo

C) A0roBopuTbLCA 0 TOM, 4TOOLI KTO-NNMGO caenan YTo-nnbo

D) 3actasuTb koro-nu6o genartb 4To-nubo

7) Complete the sentence: Your sales are low. You ... harder.

A) should to work B) must have worked

C) must to work D) should have worked

8) Find the word corresponding to the given definition: A Jack of jobs for a large
number of people in a society.

A) Unemployment  B) Consumption  C) Competition D) Equilibrium

9) Insert the prepositions if necessary: The quality...the food...the hotel was awful
and everybody ...our group was sick most...the time.

A) at; of; -; - B) of; at; of; - C) among; in; -; of D) of; in; of; -

10) Find the word corresponding to the given definition: The total market value of all
goods and services that a country produces in one year.

A) national economy B) gross national product

C) annual output D) market share
12



11) Insert the preposition if necessary: Please write...them.
A) - B) for C)on D) to

12) Find the word corresponding to the given definition: The desire of people for
particular goods or services based on their purchasing power.

A) Supply B) Demand C) Sale D) Growth

13) Transform the sentences into Reported Speech: The secretary told Mr. Brown,
«I arranged for him to come on Tuesday afternoon».

A) The secretary told Mr. Brown that she arranged for him to come on Tuesday afternoon.

B) The secretary told Mr. Brown that she has arranged for him to come on Tuesday
afternoon.

C) The secretary told Mr. Brown that she had arranged for him to come on Tuesday
afternoon.

D) The secretary told Mr. Brown that she was arranged for him to come on Tuesday
afternoon.

14) Put the verb in brackets into the right form: We (work) together for two years
before we made an agreement.

A) had worked B) was working
C) have been working D) had been working

15) Put the verb in brackets into the right form: / would come to the meeting if | ...
about it.

A) knew B) would know C) will know D) know

16) Choose the correct translation: OH 2080pum, Ymo npuem 3aKoH4yuncs 8 6 yacoe.
A) He says the party finished at 6 o'clock.

B) He says the party had finished at 6 o'clock.

C) He says the party have finished at 6 o'clock.

D) He said the party had finished at 6 o'clock.

17) Complete the sentence: The administration has reported that the national output
declined 2,4 ... .

A) person B) per cent C) percent D) percentage
18) Name the singular form of a noun: “ phenomena”
A) phenomenon B) phenomenum C) phenomena D) phenomen

19) Find out in what part of the sentence there's a mistake: The (1) secretary had
typed (2) letters for(3) half an hour when Mr. Green came (4).

A)2 B)1 C)3 D)4
20) Choose the right translation: "norpe6nexue”

A) transition B) manufacturing C) consumption D) competition
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Test 6

1) Find the word corresponding to the given definition: A person or group that
employs others.

A) Agent B) Customer C) Employer D) Employee
2) Choose the right translation: "pacnpeaensts pecypcbl”

A) to connect resources B) to deliver resources

C) to acquire resources D) to allocate resources

3) Choose the right translation: "yacTHan co6cTBeHHOCTL"

A) property ownership B) public property

C) personal property D) private property

4) Choose the right translation: "3koHOMUTbL Ha Yem-NnGo”

A) to economy smth B) to be economical about smth
C) to economize on smth D) to economize smth

5) Find the word corresponding to the given definition: The business of selling
goods in large quantities, especially to shopkeepers.

A) Deal B) Discount C) Retail D) Wholesale

6) Choose the correct translation: 1 cnpocun, npuaeT NU OH CIOAa BEYEPOM, U OH
OTBeTUn, YTo npuaer.

A) | wondered if he will come there in the evening and he answered that he will.

B) | wondered if he would come there in the evening and he answered that he would.
C) | wondered if he came there in the evening and he answered that he did.

D) | wondered would he come there in the evening and he answered that he would.

7) Transform the sentences into Reported Speech: «Do you like the product?» Mary
wondered.

A) Mary wondered if | liked the product. B) Mary wondered that | liked the product.
C) Mary wondered me if | liked the product. D) Mary wondered if the product liked I.

8) Find out in what part of the sentence there's a mistake: The (1) manager told (2)
the people that (3) to do (4).

A)4 B)3 C)2 D)1

9) Fill in prepositions if they are necessary: Have you made arrangements... them to
visit the museum?

A) with B) about C) for D) on

10) Find out in what part of the sentence there's a mistake: To talk (1) the (2) truth, |
don't believe (3)him (4).

A) 1 B)3 C)4 D)2
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11) Put the verb in brackets into the right form: Someday I (travel) to Brazil.
A) will be travelling B) will have been travelling
C) will have travelled D) will travel

12) Put the verb in brackets into the right form: If you call me tomorrow at this time
I (to buy) a car.

A) will have bought B) will be buying

C) will buy D) will have been buying

13) Complete the sentence: The computer is still on. They ... here in the morning.
A) should be B) should have been

C) might have been D) might be

14) Choose the right translation: “aepxarens akuun”

A) shareholder B) storekeeper

C) stake keeper D) stock keeper

15) Complete the sentence: To sell a product in the market a manufacturer
should... whether the demand is sufficient (y6edumscs).

A) convince himself  B) believe C) do sure D) make sure
16) Choose the right translation: "to provide programs"”

A) 3akpbiBaTb NPOrpammb! B) o6ecneunBaTb nporpammamm
C) BbINONHATL NPOrPaMMbI D) npuobpeTtatb nporpaMmbi
17) Choose the right translation: “nonyyars npubbinb"

A) to involve profit B) to earn profit

C) to let profit D) to reduce profit

18) Transform the sentences into Reported Speech: Hob said, «I will go and fetch
my contract.»

A) Hob said that he will go and fetch my contract.

B) Hob said that he would go and would fetch my contract.
C) Hob said that he would go and fetch his contract.

D) Hob said that, please, he would go and fetch his contract.

19) Find out in what part of the sentence there's a mistake: / asked Tom (1) if (2) had
he sold (3) all the (4) goods.

A) 4 B)2 C)1 D)3
20) Choose the right translation: “to pay attention to smth”
A) onnayuBaTb CYeT 3a YTo-Nubo B) o6pawatb BHuMaHwe Ha uTo-nnbo
C) npusnekaTb BHUMaHKe K Yemy-nnbo D) sbinnatute gonr 3a uto-nubo
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UNIT 2 LEXICAL TESTS (UPPER INTERMEDIATE LEVEL)
Test1

1) Choose the right translation: "crtankusarbcs ¢ TpyQAHOCTAMMK

A) to face difficulties B) to meet difficulties

C) to come to difficulties D) to avoid difficulties

2) Choose the right translation: "6bITb B 06paweHun”

A) to be in circulation B) to be open

C) to be available D) to be in action

3) Choose the right translation: "6bITb cnpaBegnNMBLIM™

A) to be specific B) to be unfair C) to be fair D) to be sure

4) Choose the right translation: "usayyexue pbiHka”

A) market relations  B) marketplace  C) market research D) market economy

§) Choose the right translation: “3aem”

A) a loan B) a bond C) a cheque D) a margin
6) Choose the right translation: "nocraBwmk”

A) broker B) consumer C) supplier D) demander

7) Choose the right translation: “rocynapcrseHHan co6CTBEHHOCTL"
A) state ownership B) public property

C) private property D) national ownership

8) Choose the right translation: "aoxoa Ha aywy HaceneHua"

A) standard of living B) population income

C) output per capita D) welfare benefit

9) Choose the right translation: “cBepxnpubbins”

A) excess profit B) hyper demand  C) up weight D) over supply
10) Choose the right translation: "oTMeHUTbL Hanoru”

A) to collect taxes B) to reduce taxes

C) to eliminate taxes D) to impose taxes

11) Choose the right translation: "yknoHaTbCca OT ynnarsi Hanoros”
A) to evade taxes B) to discharge taxes

C) to impose taxes D) to abolish taxes
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12) Choose the right translation: "yBepsatb B 4em-nu60
A) to assure of smth B) to ensure smth

C) to care smb D) to be sure of smth

13) Choose the right translation: “"ueHHble Gymaru”

A) values B) securities C) treasures D) outcomes

14) Choose the right translation: “aenats npeaonnary”

A) to credit B) to invest C) to pay intime D) to pay in advance
15) Choose the right translation: "ponaoBan 6upxa”

A) exchange rate B) stock exchange

C) fund exchange D) money exchange

16) Choose the right translation: "BBecTu Hanor Ha 4ro-nu6o”

A) to puton a tax B) to impose a tax

C) to investigate a tax D) to collect a tax

17) Choose the right translation: "roproso-npomMbiwneHHas nanara”
A) trade and industry house B) economic committee

C) business chamber B) chamber of commerce and industry

18) Choose the right translation: "gecsituneTHunit onbIT paboTbl”

A) working ten years’ experience B) working experience of ten years
C) ten year's work experience D) ten years' work experience

19) Choose the right translation: “6axnkoBckui oTyer”

A) bank transaction B) bank statement

C) bank paper D) bank transfer

20) Choose the right translation: “pe3ynerarel”

A) outcomes B) finals C)rates D) subjects
21) Choose the right translation: "ontosas Toprosns"
A) volume sales B) store housing

C) retail trade D) wholesaling

22) Choose the right translation: "6biTb TOYHbIM™

A) to be accurate B) to be sure

C) to be special D) to be certain



23) Choose the right translation: "nonb3osarbcsa cnpocom”

A) to be valid B) to be in demand

C) to be safe D) to be on rise

24) Choose the right translation: "BzaumopencreoBarb”

A) to interact B) to intersect C) to intend D) to interdepend
25) Choose the right translation: “pacxoabi”

A) expenses B) bills C) receipts D) savings

26) Choose the right translation: “npeo6nanarb”

A) to predict B) to imply C) to prevail D) to improve
27) Choose the right translation: “6bITb He3HaKOMbIM”

A) to be uncertain  B) to be unfamiliar C) to be undone D) to be untidy
28) Choose the right translation: "3anpewarb 4ro-nu6o aenars”

A) to prevent smb from doing smth B) to abandon smth

C) to regulate smth D) to refer smth to smb

29) Choose the right translation: "nosblwars UeHbI"

A) to higher prices B) to rise prices

C) to raise prices D) to keep up prices

30) Choose the right translation: “mowHocTb”

A) equipment B) capacity C) input D) outcome

Test2

1) Choose the right translation: “wrpad”

A) taxes B) dues C) penalty D) customs
2) Choose the right translation: Tpe6oBanue

A) research B) requirement C)demand D) inquiry
3) Choose the right translation: “c Apyrou cTopoHb!”

A) on other side B) on the other hand

C) on the other point D) on other hand

4) Choose the right translation: “okynarbca”

A) to pay out B) to pay C) to payin D) to pay off
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§) Choose the right translation: “koHKkypeHTOCNOCOGHLIN"

A) competing B) competable C) contestable D) competitive
6) Choose the right translation: “cnan pbiHka”

A) market slack B) market boom

C) market research D) market recession

7) Choose the right translation: “o6opyaosanue”

A) equipment B) machines C) tools D) kit

8) Choose the right translation: “aononxHenne”

A) amendment B) addition C) clause D) act

9) Choose the right translation: “o6neruynrn”

A) to facilitate B) to ease C) to weaken D) to bring to an end
10) Choose the right translation: “Bo3mecTurb”

A) to recover B) to provide C) toreimburse D) toinsure
11) Choose the right translation: “cnoco6cTBoBarb, coaencraosars”

A) to propogate  B) to enforce C) to facilitate D) to permit
12) Choose the right translation: “ocywecTsnsarb”

A) to exceed B) to comply . C) to exercise D) to expire

13) Choose the right translation: “npeanonoxexue”

A) proposition B) suggestion C) assumption D) preposition
14) Choose the right translation: “ynyuywmrs”

A) to improve B) to increase C) to prove D) to chance
15) Choose the right translation: “no6ouxbit npoaykT”

A) byproduct B) byissues C) byresuilt D) byway

16) Choose the right translation: “3aknagHas”

A) mortgage B) properly C) estate D)land

17) Choose the right translation: “octaBuTb 6e3 BHUMaHWA"

A) dissipate B) dissimilate C) dissatisfy D)disregard
18) Choose the right translation: “uexs! Ha pabouyto cuny”

A) workers' costs B) job costs

C) work costs D) labor costs

19



19) Choose the right translation: “ueHHocTn”

A) values B) prices C) appreciations D) acknowledgements
20) Choose the right translation: “ueHbl Ha 3emnio”

A) soil costs B) earth costs C) ground costs D) land costs

Test 3

1) Choose the right translation: “amendments”

A) orosopka B)conposoxaeHue C) nonpasku D) aononHenus

2) Choose the right translation: “enforceable”

A) HapexHbn  B) cunbHbIN C) NpaBubHbIA

3) Choose the right translation: “consideration”

A) BCTpeyHoe ya0oBneTsopeHue B) konconuaaums

C) cocpeaoTOMEHHOCTb D) paccmoTperue

4) Choose the right translation: “employment contract”

A) porosop ycnyr B) aoroeop noapsaa

C) AOroBOp NUYHOro Hauma D) areHTCkuin 40rosop
5) Choose the right translation: “mortgage”

A) 3aknagHas B) nokynka B kpeautr  C) aveuaeHa

6) Choose the right translation: “bailment”

A) 3anor B) nepepaya Ha 0TBETCTBEHHOE XpaHEHWe
C) oxpaHa D) apeHaa

7) Choose the right translation: “obligation”

A) AeHeXHbi 3aeM B) akuuun

C) obsizatenscreo D) obnurauuu

8) Choose the right translation: “means”

A) Bug B) 3HauuTh C)anow D)cpeacrtBa

9) Choose the right translation: “bargain”

A) porosop B) 6apxa C) BapBap D) caenka
10) Choose the right translation: “to owe”

A) 0653bIBaTh B)6biTb 06583aHHBIM (A0MKHBLIM)
C) umeTtb D)snaaetb
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11) Choose the right translation: “letter of credit”

A) Bexcenb B) TpatTa C) KpeauTHOe NUCbMO D)akkpeauTtus
12) Choose the right translation: “void contract”

A) OCNOPUMbIVA KOHTPAKT B)HeaencTBUTENbHBIN KOHTPAKT

C) nycTon KOHTpakKT D) HenonHbIh KOHTPaKT

13) Choose the right translation: “claims”

A) 308 B)ucku C) npeTeH3uu D) cankuumn
14) Choose the right translation: “instaliment”

A) vacTtb B)uenoe C) yacTuuHbIN B3HOC D) ycraHoBka
15) Choose the right translation: “divisible contacts”

A) pa3aeneHHble KOHTPaKTb! B) pa3penbHble KOHTPaKTbI

C) oTaenbHble KOHTPaKTb! D) aAenumbie KOHTPaKTbI

16) Choose the right translation: “consent”

A) 6ecnokoicTso B) cornacue C) uyBcTBO D)aoBonbHbINA
17) What does this abbreviation mean: FOB

A) freight on board B) free on board

C) fond or brandy D) free of bank

18) What does this abbreviation mean: CIF

A) cable important facts B) cost insurance freight

C) cost investment freight D) cost interest freight

19) What does this abbreviation mean: CIP

A) cost and investment paid B) carriage and insurance paid
C) cost and insurance paid D) cost and interest paid

20) What does this abbreviation mean: FAS

A) freight and sale B) free as sold

C) free alongside ship D) freight and storage

Test4

1) Choose the right translation: "to receive a reply”

A) nonydaTs oTBeT B) nonyuars 3anpoc

C) nonyvatb cBeaeHus D) nonyuate nucbmo

2) Choose the right translation: “to acquire funds”

A) co3pasatb ycnosus B) Toprosate poHaamu

C) nonyyaTtb npubbinb D) npuobpeTatb cpeacrea
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3) Choose the right translation: "domestic policy”

A) BHYTPEHHAR NonNuTUKa B) mecTHble ycnosus

C) BHYTPEHHAR nNonuuus D) aomawuxmne xnonoTbl

4) Choose the right translation: “a peculiarity”

A) cnyyaiHoCTb B) npeanoxenve C) TouHOCTb D) oco6eHHOCTb
5) Choose the right translation: "a fair”

A) apmapka B) caenka C) cnpaBeanuBeoCTb D) nnata
6) Choose the right translation: “to a great extent”

A) k 60NbLIOMY YAUBNEHWNIO B) ans 6onbwen ybeautenoHocTu
C) B 3HauMTENbHOW CTENEHN D) ao npeaena

7) Choose the right translation: "to draw a conclusion”

A) nognucaTtb cornaweHuwe B) pewwuTb BONpoc

C) caenaTtb 3anpoc D) caenaTtb BbIBOA

8) Choose the right translation: "to tax individuals™

A) nHAUBNAYanbHbIE HANoru B) nnatutb uHaMBMAYanbHO

C) obnaraTb Hanoramn 4acCTHbIX NnY D) HanoronnaTtenbuinku

9) Complete the sentence: Apparently advertisement... (okynaetcs).

A) pays out B) pays off C) pays D) is paid off

10) Complete the sentence: More and more money is spent on.. every day
(pexnama).

A) announcements B) advertisements C) notices D) notifications

11) Compiete the sentence: To sell a product in the market a manufacturer should...
whether the demand is sufficient (ybeaurbcs).

A) do well B) convince himself C) make sure D) believe

12) Complete the sentence: The company agrees... us for loss from the defaults of
the suppliers (Bo3mecTuTsb).

A) to insure B) to recover C) to provide D) to reimburse

13) Complete the sentence: When there is a business boom people have generally
more money on... (NpeaMeTbI POCKOLWW).

A) luxury items B) luxurious items C) luxurious subjects D) luxury topics

14) Complete the sentence: In the USA some insurance companies hold... valued at
800 billion (akTussbi).

A) success B) increase C) excess D) assets
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15) Complete the sentence: Customers' wishes should be... (npeaycmoTpeHbl n
yAOBNETBOPEHbI).

A) foreseen and forelooked B) forelooked and performed
C) foreseen and overdone D) foreseen and satisfied

16) Complete the sentence: Sometimes the...of a product can become lower
(cebecTtoumocTs).

A) self —production price B) introduction price
C) production cost D) self - cost

17) Complete the sentence: Market research cannot... competition. (ocmasums 6e3
BHUMAHURA).

A) dissatisfy B) dissimilate C) disregard D) displace

18) Complete the sentence: The concept of... is central to insurance (rapaHTus
BO3MmeuleHun ybbiTkos).

A) payment B) indemnity C) exposure D) financial gain
19) Complete the sentence: Pure risk involves... (HeonpeaeneHHoCTb).
A) incertainty B) insurance C) undoubtedness D) uncertainty

20) Complete the sentence: The insurer has to know when and where an... loss
occurred (3acTpaxoBaHHbIW).

A) insurable B) insurance C) insuring D) insured

Test 5

1) Find the word corresponding to the given definition: The sale of goods in shops
for customers, for their own use, not for resale.

A) Service B) Retail C) Discount D) Wholesale

2) Find the word corresponding to the given definition: The various activities by
which goods are advertised and sold.

A) Finance B) Marketing C) Retail D) Advertising

3) Find the word corresponding to the given definition: The various activities by
which goods are advertised and sold.

A) Finance B) Retail C) Marketing D) Advertising

4) Find the word corresponding to the given definition: A way of organizing
business.

A) Advertising B) Marketing C) Enterprise D) Barter

5) Find the word corresponding to the given definition: Continual improvement or
development.

A) Expansion B) Employment  C) Recession D) Recovery
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6) Find the word corresponding to the given definition: Something owed to
someone else or the duty of repaying something.

A) Debt B) Balance C) Bank statement D) Receipt

7) Find the word corresponding to the given definition: A turning point in the course
of something; moment of a great danger or difficulty.

A) Equilibrium B) Crisis C) Peak D) Upturn

8) Find the word corresponding to the given definition: The condition in which
prices keep rising, especially to an undesirable degree.

A) Inflation B) Excess supply C) Market equilibrium D) Unemployment

9) Find the word corresponding to the given definition: A sum of money paid to the
government according to income, property, goods bought.

A) Tax B) Credit C) Bill D) Subsidy

10) Find the word corresponding to the given definition: A place in which money is
kept and paid out on demand.

A) Store house B) Warehouse C) Cash desk D) Saving bank

11) Find the word corresponding to the given definition: The practice of sharing
among many persons, risks to life or property that are effected by each person
paying a sum of money.

A) Shareholding B) Banking C) Transaction D) Insurance

12) Complete the sentence: A wholesale dealer acquires the merchandise directly
from the industry, which purchases agricultural products from the manufacturer
and ... them.

A) keeps in store B) stocks C) keeps in stock D) keeps in shares
13) Complete the sentence: Banks run a...business in stock markets.

A) extreme B) forbidden C) great D) accepted

14) Complete the sentence: All banks must... the credit law.

A) regard B) imply C) foresee D) observe

15) Complete the sentence: A wholesale dealer should save a lot of money since he
has to pay his suppliers in ....

A) credit B) cash C) advance D) term

16) Complete the sentence: We would be grateful if you could...them soon.
A) deliver B) refund C) fill D) remind

17) Complete the sentence: More and more money is spent on... every day.

A) advertisements B) notifications C) notices D) announcements
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18) Complete the sentence: ... is a mechanism for reducing financial risk and
spreading financial loss.

A) Pure competition B) Borrowing  C) Insurance D) Premium

19) Choose the correct statement.

A) Top management includes department managers and production superintendents.
B) Top management includes supervisors, foremen, etc.

C) Top management includes the president and vice presidents.

D) Top management includes the president vice presidents and the general manager.
20) Choose the correct statement.

A) Marketing is what is left after all expenses of a business have been deducted.

B) Marketing is risking the loss of money, time and effort in the hope of profit.

C) Marketing is a framework enabling management to delegate and control the
responsibilities of individuals and departments.

D) Marketing is finding out what consumers want or need and then making them aware
that you are providing for that need.

GRAMMAR TESTS (UPPER INTERMEDIATE LEVEL)
Test 1

1) Insert the prepositions if necessary: The general conditions ... Sale are printed ...
the reverse side ... the tender.

A) to, at, of B) for, in, by C) of, at, by D) of, on, of

2) Insert the prepositions if necessary: /| am writing...connection...your letter of 1
March concerning the above order...electric equipment.

A) with; to; for B) to; to for C)with; for; of D) in; with; for

3) Insert the prepositions if necessary: It is now over six months...we placed this
order and we're still waiting...the furniture.

A) before; after B) since; for C) as; for D) before; -
4) Insert the prepositions if necessary: We look forward ...hearing...you.
A) from; for B) to; for C)from;of D) to; from

5) Insert the preposition if necessary: The company has sent you the bill... the
wrong goods.

A) for B)to Clon D) about

6) Insert the prepositions if necessary: Thank you...your telex concerning your
forthcoming visit...London.

A) of; in B) for; to C) for; for D)for; at
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7) Insert the prepositions if necessary: Please could you send...me details...your
products and prices.

A) -;of B) on; for C) to; of D)-; to

8) Insert the preposition if necessary: Unfortunately you took the goods ... the
wrong place.

A) for B) at C)in D)to

9) Insert the prepositions if necessary: We really must apologise ... the delay ...
delivering these goods.

A)for; in B) -; of C) of, on D) about; with

10) Insert the prepositions if necessary: The banks buy and sell shares or
securities... a fixed interest rate and receive a broker’s fee...it.

A) with; for B) for; from C) at; to D) on; with

11) Insert the prepositions if necessary: The Buyers have the right to submit
claims ... connection ... short delivery.

A)in, with B) at, with C) of, to D) of, with
12) Insert the preposition if necessary: When will you call... me? (=phone)
A)on B) about C) with D) --

13) Insert the preposition if necessary: You can always leave a message... him... the
secretary.

A) to, at B)for, at C) to, with D) for, with

14) Insert the preposition if necessary: You can count... this young man. He is very
clever and honest.

A) for B) to C)- D) on
15) Insert the preposition if necessary: I'm sorry. Mrs. Grey is... another line.
A)in B)at C) near D)on

16) Insert the preposition if necessary: ... view ... the above, we have carefully
investigated the position ... all tonnage chartered ... us.

A)in, of, to, by B) in, of, of, by C) on, of, to, by D) on, of, to, to

17) Insert the preposition if necessary: As the date ... delivery was approaching, the
Buyers requested the Sellers to perform them ...progress.

A) for, of B)in, of C)of, in D) of, of

18) Insert the preposition if necessary: The quality of the goods shall conform ... the
samples agreed certified ... the parties.

A) to, with B) with, by C) with, to D) to, by
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19) Insert the preposition if necessary: The weight shown ... the Bill of Lading is
binding ... both parties.

A) by, under  B)in, with C) by, through D) in, upon

20) Insert the preposition if necessary: .... accordance ... the terms ... the contract,
the goods were insured.

A) on, of, under B) in, of, under C)in, to, under D) in, with, of

21) Insert the preposition if necessary: Furthermore, the Captain is to advise Buyers
... cable of the forthcoming arrival... the tanker... the port of destination, 4 days... her
arrival.

A) through, of, at, after B) by, of, at, before
C) through, of, in, before D) by, of, in, before

22) Insert the preposition if necessary: The engine will be packed ... eight strong
cases suitable ... sea transportation.

A)in, to B) by, to C)in, tor D) at, for

23) Insert the preposition if necessary: Payment is to be made ... an irrevocable
Letter of Credit to be opened ... favour ... the Sellers ... Moscow Narodny Bank
Limited, London.

A) by, in, of, with B) through, of, of, in
C) against, in, of, with D) by, in, to, by

24) Insert the preposition if necessary: The equipment will be delivered ... the end ...
the week. ‘

A) in, of B) by, of C) to, of D) at, for

25) Insert the preposition if necessary: The demand ... these goods has not
declined.

A) of B) to C) with D) for

26) Insert the preposition if necessary: Each case shall be marked three sides ...
indelible paint.

A) at B) to C) with D) in

27) Insert the preposition if necessary: Instructions ... the return of faulty goods is
given by the Buyer.

A) at B)to C) from D)for

28) Insert the preposition if necessary: No claim presented ... one lot of the goods
shall be regarded ... the Buyer as reason ... rejecting any other lot or lots of the
goods.

A) for, by, in B) to, by, for C) for, by, for D) by, to, for
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29) Insert the preposition if necessary: All additions ... the contract are to be
made... writing and are to be duly signed... both parties.

A) to, in, by B) before. on, by C) under, in, by D) after, by, by

30) Insert the preposition if necessary: Taking ... account your client's requirements,
we agree to prepare the goods ... your final inspection ... our works ... August.

A)for, to,in, by  B)for, to, at, in C) into, for, at, in D) for, for, at, in

Test 2

1) Put the verb in brackets into the right form: Our English teacher told us (not/feel)
shy and speak English as much as possible.

A) not feel B) not to feel C) don't feel D) to not feel

2) Put the verb in brackets into the right form: Mary would like her company (avoid)
the crisis.

A) avoiding B) avoid C) to avoiding D) to avoid

3) Put the verb in brackets into the right form: We expected the partners (arrive)
later than usual.

A) arrive B) arriving C) arrived D) to arrive

4) Put the verb in brackets into the right form: He's still getting used to (work) with
such different nationalities.

A) work B) worked C) working D) have worked

5) Put the verb in brackets into the right form: When | was at college I used to (read)
more than | do now.

A) reading B) read C) have read D) be read

6) Put the verb in brackets into the right form: | watched my assistant (prepare) the
papers.

A) preparing (prepare) B) was preparing C) prepared D) is preparing

7) Put the verb in brackets into the right form: He is expected (make) a report on
Monday morning.

A) will make B) make C) to make D) making

8) Put the verb in brackets into the right form: He was considered (be) a good
manager.

A) be B)was C) to be D) being

9) Put the verb in brackets into the right form: She was noticed (hide) things.
A) hid B) was hiding C) hiding D) to hide

10) Complete the sentence: He regretted... to the company.

A) not go B) not having gone C) not to go D) not going
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11) Complete the sentence: Everything depends on our friends’ ... .

A) to come B) having come C) come D) coming

12) Complete the sentence: Jack felt her hand ... his hand.

A) to touch B) touched C) touch D) having touched

13) Complete the sentence: / saw them ... inside.

A) coming B) came C) having come D) to come

14) Transform the sentences into Reported Speech: «How old are you?» he asked.
A) He asked me how old was |. B) He asked me how old am I.

C) He asked me how old | was. D) He asked me how old | am.

15) Transform the sentences into Reported Speech: He asked the manager, «At
what price were two cargoes wheat sold yesterday?

A) He asked the manager at what price two cargoes wheat sold yesterday were.

B) He asked the manager at what price two cargoes wheat were sold the day before.

C) He asked the manager at what price had been two cargoes wheat sold the day before.
D) He asked the manager at what price two cargoes wheat sold the following day.

16) Transform the sentences into Reported Speech: She asked me, «Would you like
to see the office?»

A) She asked me if would | like to see the office.
B) She asked me if | would like to see the office.
C) She asked me that | would like to see the office.

D) She asked me if the office | would like to see.

17) Transform the sentences into Reported Speech: Tom said, «Jerry has been my
best friend since our early childhood.»

A) Tom said that Jerry has been his friend since their early childhood.

B) Tom said that Jerry had been my best friend since our early childhood.
C) Tom said that Jerry had been his best friend since their early childhood.
D) ) Tom said that Jerry had been his best friend since our early childhood.

18) Transform the sentences into Reported Speech: Mr. Smith told his secretary,
«Please get the documents ready.»

A) Mr. Smith told his secretary to get the documents ready, please.
B) Mr. Smith told his secretary to get the documents ready.
C) Mr. Smith told his secretary that she got the documents ready.

D) Mr. Smith told his secretary to getting the documents ready.
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19) Transform the sentences into Reported Speech: «Don'‘t tell anyone what
happened, Ann said to me.

A) Ann asked me to not tell anyone what had happened.
B) Ann asked me not tell anyone what had happened.

C) Ann asked me do not tell anyone what had happened.
D) Ann asked me not to tell anyone what had happened.

20) Transform the sentences into Reported Speech: «Will you be free tomorrow?
Colin asked Richard.

A) Colin asked Richard if he will be free tomorrow.

B) Colin asked Richard that he will be free tomorrow.
C) Colin asked Richard if tomorrow he would be free.
D) Colin asked Richard if he would be free the next day.

21) Transform the sentences into Reported Speech: Mr. Robinson asked his
secretary, «Has anybody left a message for me?»

A) Mr. Robinson asked his secretary if anybody has left a message for him.
B) Mr. Robinson asked his secretary if anybody left a message for me.

C) Mr. Robinson asked his secretary that anybody had left a message for him.
D) Mr. Robinson asked his secretary if anybody had left a message for him.

22) Transform the sentences into Reported Speech: «Don‘t answer the phone, said
her boss.

A) Her boss said to not answer the phone.

B) Her boss said don't answer the phone.

C) Her boss said that not to answer the phone.

D) Her boss said not to answer the phone.

23) Choose the correct translation: Bckope oH NpuebIK 6Cmaeamb paHo.
A) Soon he got used to get up early.

B) Soon he got used to getting up early.

C) Soon he used to get up early.

D) Soon he get used to getting up early.

24) Choose the correct translation: Coobwarom, ymo Hoeas ebiCmaeKka umeem
ycnex.

A) The new exhibition is reported being a success.
B) The new exhibition is reported is a success.

C) The new exhibition is reported to be a success.
D) The new exhibition reported to be a success.
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25) Choose the correct translation: [-p Mpasm oxudan, ymo konneau noddepxam ezo.
A) Doctor Grant was expected the colleagues to support him.

B) Doctor Grant expected the colleagues to support him.

C) Doctor Grant expected the colleagues to be supported him.

D) Doctor Grant expected the colleagues supporting him.

26) Choose the correct translation: Kawemcs, oHu npuHsnu npu2naweHue
2ocnoduHa BpayHa.

A) They seem having accepted Mr. Brown's invitation.

B) They seem have accepted Mr. Brown's invitation.

C) They seem to have accepted Mr. Brown's invitation.

D) They seem that they have accepted Mr. Brown's invitation.

27) Choose the correct translation: ON cka3an MHe, Ymo nownem UHCMPyKYUU
azeHmy.

A) He told me that he would send the instructions to the agent.
B) He told to me that he would send the instructions to the agent.
C) He said me that he would send the instructions to the agent.
D) He told me that he will send the instructions to the agent.

28) Choose the correct translation: S cyumar, ymo ama ewedHeeHas 2a3ema
OYeHb UHmMepecHas.

A) | believe this everyday newspaper being very interesting.

B) | believe this everyday newspaper very interesting is.

C) I'm believed this everyday newspaper to be very interesting.
D) | believe this everyday newspaper lo be very interesting.

29) Choose the correct translation: Coobwunu, ymo denezayusi aHanUlCKUX
npedcmasumenel npubydem 3aempa.

A) The delegation of English reps was reported to arrive tomorrow.

B) The delegation of English reps was reported arriving tomorrow.

C) The delegation of English reps was reported that it will arrive tomorrow.
D) The delegation of English reps was reported to be arrived tomorrow.

30) Choose the correct translation: OH cka3an, YTO NoKynatenu XOTAT, 4YTOObI
ToBapb! ObiNK OTNpaBNeHbl Xene3Hon AOPOroun.

A) He said that the customers wanted to send the goods by railway.
B) He told that the customers wanted the goods were sent by railway.
C) He said that the customers wanted the goods to be sent by railway.
D) He said that the customers want the goods to be sent by railway.
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Test 3
1) Fill in the prepositions: Payment shall be made ... the following documents.
A) with B) to C) after D) against

2) Fill in the prepositions: The date of delivery is considered the date of border
station ... the Railway Bill.

A) at B) to C)on D)in

3) Fill in the prepositions: If the L/C is not opened ... time, the Buyer are to pay the
Sellers a fine ... each day ... delay.

A)in, for, of B)on, to,in C)on, for, of D)in, to, in

4) Fill in the prepositions: Packing is to secure full safety of the goods during
transportation ... all kinds of transport means.

A)on B) by C) with D) at
5) Fill in the prepositions: Prices are fixed ... US dollars.
A)in B) with C)at D) on

6) Fill in the prepositions: Kindly let us know ... cable whether you agree ... this
postponement of the shipping dates.

A) by, in B) by, to C)in, with D) by, with

7) Fill in the prepositions: The machine could be dispatched not later than 30lh
September, subject to our receiving your order within 20 days ... this date.

A) of B) off C)to D) from

8) Fill in the prepositions: We can't agree ... the condition that 20% ... the value ...
the goods should be paid ... us ... advance.

A) to, of, of, by, in B) with, of, of, for, in
C) with, of, of, to, at D) with, in, of, to, in

9) Fill in the prepositions: We enclose catalogues of our range of machine tools ...
complete technical information.

A) in B) with C)of D) to

10) Fill in the prepositions: ... arrival of the tanker ... Batumi the Captain gave the
Seller's representative a written notice of readiness ... the tanker ... loading.

A) before, in, of, to B) after, at, of, to
C) on, to, of, for D) in, in, of, to

11) Fill in the prepositions: The cost... the packing machine ... four cases was not
included ... the invoice.

A) of, in, in B) of, in, at C) of, for, in D) at, for, in
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12) Fill in the prepositions: We don't sell goods... credit.
A) for B) at C)on D) of

13) Fill in the prepositions: Neither party shall bear responsibility ... complete or
partial non-performance.

A) of B) for C) at D)in

14) Fill in the prepositions: The goods could be shipped ... October or November ...
your option.

A)in, at B)on, by C)in, to D) on, at

15) Fill in the prepositions: The letter of Credit was established ... the Buyer ...
favour ... the Seller.

A) by, in,of  B)by,at, to C) with, at, to D) by, in, to

16) Fill in the prepositions: Payment... the goods delivered shall be effected
through a confirmed L/C.

A) to B) of C) for D) by

17) Fill in the prepositions: We do not consider the General Conditions enclosed ...
your letter to be binding ... us.

A) by, upon B) at, on C) for, on D) in, upon

18) Fill in the prepositions: Goods to be delivered are manufactured ... the Sellers’
factories.

A) to B)in C)on D) at

19) Fill in the prepositions: The Seller should submit the above said documents ...
the Bank ... payment.

A) to, for B)to, in C) for, to D) by, to

20) Fill in the prepositions: We are sending you our Brochure Ne 15 relating ... the
machine you are interested ... .

A) by, with B) to, in C) with, with. D) to, with

21) Fill in the prepositions: The Buyers have the right to submit claims ...
connection ... short delivery.

A) in, with B)of, to C) of, with D) at, with

22) Fill in the prepositions: The Contract was concluded ... V/O "Rossexport” ... the
one part and Messrs A. B. Smith and Co.... the other part.

A) by, on, on B) among, from, from
C) between, on, on D) between, from, to
23) Fill in the prepositions: The goods are shipped ... defective packing.

A)in B) ith C)on D) at
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24) Fill in the prepositions: All disputes arising...the contract or ... connection ... it
are to be settled ... arbitration.

A) out away, in, to, through B) out of, in, with, by
C) out from, in, to, by D) from, by, to, in

25) Fill in the prepositions: We are sending you a list... spare parts required ...
normal operation ... the machinery.

A) to, by, of B) of, for, of C) of, by, of D) for, by, in

26) Fill in the prepositions: A copy ... the Bill of Lading was dispatched ... you ... our
letter.

A) to, by, in B) of, to, in C) of, by, in D) of, by, at

27) Fill in the prepositions: All charges connected ... the opening ... the L/C are to be
paid ... the expense... the Buyer.

A) with, of, for, of B) of, of, at, of
C) by, of, for, of D) with, of, at, of

28) Fill in the prepositions: Our guarantee does not apply ... damage caused ...
careless maintenance.

A) to, after B) with, in C) to, by D) with, by

29) Fill in the prepositions: This offer is made subject to the material being sold ...
the time ... receipt of your order.

A) at, of B)in, of C) to, for D) by, to

30) Fill in the prepositions: The goods ... the present contract shall be shipped ...
FOB basis.

A) of, at B) under, on C) under, in D)in, on

Test4

1) Fill in the prepositions: The Sellers has the right to effect advanced delivery of
goods ... the Buyers consent.

A)in B) on C) with D) at

2) Fill in the prepositions: ... the present moment we have no free tonnage ... our
disposal.

A) at, with B)at, at C)in,in D) in, at

3) Fill in the prepositions: The Seller should submit the above said documents ... the
Bank ... payment.

A) to, in B) for, to C) to, for D) by, to
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4) Fill in the prepositions: We are ready to supply you ... the equipment required ...
you ... the following terms.

- A) to, by, at B) with, by, on  C)with, by, at D) with, by, to
5) Fill in the prepositions: The Seller is to examine the claim ... 15 days.
A)in B) at C) by D) within

' 6) Fill in the prepositions: We are obliged ... your enquiry and have pleasure ...
offering you the following goods.

A) for, to B)to, to C) by, at D) for, in

7) Fill in the prepositions: We will cable you the name and capacity ... the tanker ... 5
days before her arrival ... Batumi.

A) of, after, at B) of, in, to C ) of, in, at D) of, within, in
8) Fill in the prepositions: This firm has for some years past been dealing ... textiles.
A) with B) to C)in D)on

9) Fill in the prepositions: We consider that the price should be subject to the 5%
discount stipulated ... clause S of the contract.

A) to B) at C) of D)in

10) Fill in the prepositions: Stormy weather prevented the ship ... being loaded
yesterday.

A) from B) to C)in D) by

11) Fill in the prepositions: We would like to draw your attention ... paragraph 10 ...
the contract... which are obliged to deliver the machine ... June.

A) by, of, at, by B) to, of, in, in C) to, of, at, in D) of, to, in, to

12) Fill in the prepositions: No order shall be binding ... the Sellers until confirmed ...
them in writing.

A)on, by B) by, with C) by, by D) to, with

13) Fill in the prepositions: This guarantee applies only... goods ... our own
manufacture.

A) for, in B) to, in C) for, of D) to, of

14) Fill in the prepositions: The Seller will pay to the Buyer penalty ... the rate of 10%
... the value of the said goods.

A)in, of B) in, for C) at, of D) at, for

15) Fill in the prepositions: The letter of credit is to be established ... the full value ...
each lot to be shipped ... the contract.

A) for, of, under B) from, of, under  C) for, to, under D) in, by, against
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16) Fill in the prepositions: The goods are considered to be delivered by the Seller
accepted by the Buyer ... respect ... quantity.

A) with, of B) with, to C)at, to D) in, of

17) Fill in the prepositions: We wish to inform you that the increase of the cargo ...
500 tons as requested ... Sellers would practically mean ... us storage expenses...
the above quantity for a period of at least two weeks.

A) by, by, for, on B) to, by, to, for
C) to, by, for, to D) by, by, to, on

18) Fill in the prepositions: Both parties shall keep these samples... 2 months ... the
date... delivery.

A) for, from, before B) within, on, of
C) for, from, of D) within, up to, after

19) Fill in the prepositions: The oil was insured ... Ingosstrakh ... Russia ... usual
marine risks.

A) in, of, against B) by, of, against
C) through, in, against D) by, in, against

20) Fill in the prepositions: As a matter ... fact, our sales ... these goods have greatly
increased.

A) to, of B) to, for C) of, of D) of, to
21) Fill in the prepositions: Our letter dated the 5th May was sent... air-mail.
A)in B) at C) through D) by

22) Fill in the prepositions: We can ship the goods ... regular intervals ... separate
lots ... your option.

A)in, in, at B) at, in, for C) at, in, at D) at, in, to

23) Fill in the prepositions: As a matter ... fact, our sales ... these goods have greatly
increased.

A) to, of B) of, of C) to, for D) of, to

24) Fill in the prepositions: The delay ... delivery ... the spare parts ... the machine
has put us ... a difficult position.

A) of, of, to, into B) in, of, to, into

C) of, in, to, in D) in, of, into, to

25) Fill in the prepositions: Each lot of the goods shall be covered ... a separate B/L.
A) at B) of C) with D) by

26) Fill in the prepositions: Payment is to be made ... the Buyers ... installments.

A) by, by B) to, by C)to, in D) by, in

27) Fill in the prepositions: The price is reduced ... 10 dollars.

A) for B)in C) by D) to
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28) Fill in the prepositions: The cost ... the packing machine ... four cases was not
included ... the invoice.

A) of, in, at B) of, for, in C) of, in, in D) at, for, in

29) Fill in the prepositions: The price includes the cost ... a standard set ... spare
parts if such parts are required.

A) of, of B) of, for C) for, for D) for, of

30) Fill in the prepositions: Containers shall be stuffed up ... the full capacity.
A) to B) at C)in D) with

UNIT 3 MULTIPLE CHOICE TESTS (ADVANCED LEVEL)

Underline the answer you think is the correct one.

Test1 The Structure of Commerce

1) Which of the following is an extractive industry?

A) manufacturing; B) retail selling;

C) wholesale distribution; D) fishing.

2) Which of the following is the best definition of commerce?
A) buying and selling;

B) the production and provision of goods and services;

C) the extraction and making of raw materials;

D) the services of banking and advertising.

3) Which of the following services does the wholesaler offer?
A) manufacturing raw materials;

B) selling goods to the consumer;

C) storing goods in his warehouse and selling them to the retailers;
D) exploring for raw materials such as tin and copper ore.

4) Who does the wholesaler normally give some credit to?

A) the commercial banks; B) the building societies;
C) retailers; D) the advertising firms.
5) A voluntary chain consists of a group of:

A) manufacturers and independent retailers;

B) wholesalers;

C) manufacturers and wholesalers;

D) wholesalers and independent retailers.
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6) Kentucky Fried Chicken sells the ingredients and method of production to a retail
shop. This type of retail arrangement is called a:

A) co-operative; B) supermarket;

C) franchise agreement; D) small local corner shop.

7) The commercial banks are a service whose purpose is which of the following:
A) to help the government with its income tax problems;

B) to provide a service that is used by manufacturers, wholesalers, retailers and
consumers;

C) to work with building societies to provide better services;
D) to help overseas buyers to find a market for their goods.

8) Which of the following organizations provides the following service: ‘It is a
financial protection against an event that may happen’.

A) the financial institutions; B)the merchant banks;

C) the advertising agencies; D) the insurance companies.

9) Goods which are sold by the home country to an overseas country are called:
A) Bills of Exchange; B) Bills of Lading;

C) expensive goods; D) exports.

10) Which of the following is the kind of manufacturing that is often called the
production line method?

A) batch production; B) unit production;
C) mass production; D) continuous process production.
Test 2 Business Organization and Finance

1) The name “equities” is given to:

A) preference shares; B) ordinary shares;

C) debentures; D) government securities.
2) A public limited company is owned by the:

A) board of directors; B) government;

C) shareholders; D) debenture holders.

3) The principles of unlimited liabilities apply to:

A) private companies; B) the sole trader;

C) public companies; D) co-operative retail societies.
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4) When someone wants to start up a business he or she will usually obtain money from:
A) a banker's draft; B)the commercial banks;
C) personal savings; D) a bank overdraft.

5) In which of the following organizations is the original owner no longer the sole
decision maker?

A) the sole trader; B) the marker trader;
C) the partnership; D) the self-employed decorator.

6) What is the maximum number of partners you are allowed to have by British
company law in a private limited company?

A) 10; B) unlimited; C) 20; D) 35.

7) Which of the following according to British company law must always be paid first?
A) dividends to ordinary shareholders;

B) dividends to deferred shareholders;

C) dividends to preference shareholders;

D) fixed interest to debenture holders.

8) Of the following kinds of share which one is usually ‘accumulative’?

A) ordinary shares; B) deferred shares;

C) preference shares; D) ordinary 'A’ shares.

9) What is the maximum number of partners (allowed by British company law) in an
ordinary partnership?

A) 20; B) 10; C) 40; D) 50.

10) In which kind of business organization is the ownership and control fragmented
(split up)?

A) the partnership:; B) the private limited company;
C) the public limited company; D) the one man business.
Test 3 Banking

1) Who sets the bank's base rate?

A) the building societies;

B) the National Westminster Bank (foreign department);

C) each individual commercial bank;

D) the Chancellor of the Exchequer.

2) Who sets the interest rate that influences most financial institutions?

A) the commercial banks; B) the lending institutions;
C) the main finance houses; D) the merchant banks;
E) the Bank of England.
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3) How would a business organization normally raise capital for its everyday use?
A) from money lenders;

B) from the directors;

C) from the commercial banks, as an overdraft;

D) by raising a personal loan;

E) by selling some of its raw materials.

4) Which of the following kinds of account does not pay interest?
A) a Post Office savings account;

B) a building society account;

C) a commercial bank deposit account;

D) a commercial bank current account;

E) deposits made with financial institutions.

5) If you had a regular payment to make, for example a monthly mortgage payment,
which would be the most convenient way of paying it?

A) by sending cash to the building society;

B) by sending postal orders to the building society;

C) by banker's standing order;

D) by cheques to the building society;

E) by calling in to the building society every month and making a paymeht.
6) Personal loans are made to customers of banks and repaid in the following way:
A) by making fixed payments every month;

B) by making payments which are convenient to the customer;

C) by making payments which are convenient to the bank;

D) by paying the interest first and the loan later;

E) by making arrangements with the bank manager to 'overdraw'.

7) Interest charged on an overdraft is charged in the following way:

A) at the end of the month at a fixed rate;

B) only on the amount owed to the bank at the end of each financial period;
C) at an increasing monthly rate;

D) after a three year period.

8) Which one of the following methods of saving does not guarantee the investor a
return on his investment?

A) National Savings Certificates; B) Premium Bonds;
C) Trustee Savings Bank deposits; D) building society deposits;
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9) Which of the follow'fving is a service supplied by most commercial banks?
A) arranging hire purchase finance;

B) issuing foreign currency and travellers' cheques;

C) arranging hotel accommodation for good customers;

D) giving a good commission for regular investors;

E) sending a regular statement of share prices to every customer.

10) If a commercial bank wanted to pay a sum of money to another commercial bank
it would use a particular method. Which of the following would it use?

A)a aregular banker's order; B) a banker's statement;
C) an uncrossed cheque; D) a Bank of England cheque;
E) a bill of exchange.

Test4 Bank Accounts

1) If you open a deposit account at a bank:

A) the bank will give you a cheque book containing uncrossed cheques;
B) you will be allowed to withdraw your deposit on demand;

C) you will be given a cheque book containing crossed cheques;

D) you will receive interest on your deposit.

2) How do the bank know that the drawer's signature is genuine?
A) by asking the payee if he was there when the cheque was signed;

B) by comparing it with the drawer's specimen signature;

C) by telephoning the drawer and asking him;

D) by looking at a cheque previously signed by him.

3) The record of all payments into and out of a bank current account is called a:
A) cheque; B) bank note;

C) a paying in book; D) a bank statement.

4) There are normally three numbers on the bottom of a cheque. The middle one is
usually the:

A) cheque serial number; B) cheque number;

C) branch number; D) account number.

5) Why is a counterfoil attached to most cheques?

A) so that the bank can total them up at the end of the month;

B) so that the drawer will recognize his or her own cheque book;

C) so that the owner will have a permanent record of the cheques written;

D) to keep the cheques in the correct order.
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6) When the bank calls for a reference for a new account it will normally ask:

A) another bank manager:;

B) someone who has had an account with them before;

C) a local businessman;

D) someone who has an account with the branch and who knows the new customer well.

7) When the drawer has insufficient funds to meet the cheque, the bank will return
the cheque to the payee with the following abbreviation written on it:

A)R.D; B)N.F,; C)1.0.U,; D) O.D.

8) A cheque may be dishonored for the following reason:

A) the payee does not know the drawer;

B) the payee receives the cheque too late;

C) the signature is forged or illegible;

D) it was presented at the wrong bank.

9) The person who writes out the cheque is called the:

A) payer; B) writer; C) payee; D) drawer.

10) If you do not have a bank account and you receive a cheque, you may be able to
get it cashed by asking a person with a bank account to cash it for you. Before the
person will do this he will expect you to do the following to the cheque:

A) take it to his bank;
B) authorize its payment;
C) endorse it by signing your name on the back of the cheque;

D) put your address and telephone number on the back of the cheque.

TestS Transport

1) Valuable goods (such as diamonds from Amsterdam to London) are usually
transported by:

A) air; B) tramp steamer; C) ocean liner;
D) container vessel; E) hovercraft.

2) The Baltic Exchange is concerned with:

A) customs duty in Northern Europe;

B) chartering ships and aircraft;

C) buying and selling shipping shares;

D) arranging shipping insurance;

E) arranging shipping trips to the Baltic Sea.
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3) The best way to transport spring flowers from Jersey to London is by:

A) road; B) rail; C) sea; D) air; E) passenger ferry.

4) Some branches of the railway network have been closed in recent years because
A) the service was too slow; B) not one person used them;

C) the gauge of the rails was the wrong size; D) steam trains became obsolete;
E) they were uneconomic.

5) A shipping company wishing to insure a ship would probably do so at:

A) Harrods; B) Barclays' foreign department;

C) Lloyds; D) The Stock Exchange;

E) The Prudential Assurance Company.

6) The following type of transport gives a door to door service:

A) canal; B) air; C) road; D) rail; E) express delivery.

7) What is the name given to ocean-going cargo ships which follow no fixed
timetable?

A) liners; B) tramps; C) coasters; D) ferries; E) tankers.
8) The introduction of containerization is

A) helping to reduce shipping costs;

B) helping to avoid customs delays;

C) making the vessels lighter;

D) helping British Rail to make a larger profit;

E) minimizing the handling of cargo.

9) Which of the following statements is incorrect?

A) The increased price of petrol has resulted in British Rail building more railway routes. B)
Sea transport is suitable for carrying bananas.

C) Motorways often reduce the time taken to deliver goods.

D) Road transport gives a door to door service.

E)The transporting of heavy goods by rail over long distances is reasonably cheap.
10) Canals are unsuitable for the transport of:

A) cement; B)sand; C) coal; D) perishable goods;  E) bricks.
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Test 6 Insurance

1) Insurance against loss of money stolen by an employee in a position of trust is
called:

A) marine insurance; B) employer's liability insurance;

C) fidelity guarantee insurance; D) National Insurance.

2) If you insured a property against fire, the policy would be issued by:

A) the fire service; B) the insurance company;

C) the stockbroker; D) the Chartered Insurance Institute.

3) Underwriters at Lloyds, the marine insurance center, work in groups that are called:
A) insurance companies; B) conventions;

C) syndicates; D) public utilities.

4) One of the basic principles of insurance is that the insured person and the
company must not fail to be completely honest with each other. This is known as:

A) subrogation; B) proximity cause;
C) utmost good faith; D) insurable interest.

5) Two years ago a man insured his house for £50000. It increased in value by £5000
during the first year and £4000 during the second year. The house was completely
destroyed and the owner had to claim on the insurance policy. How much would the
insurance company pay?

A) £50000; B) £569000; C) £55000; D) £68000.

6) An insured person is paid £5000 by an insurance company in complete
settlement for damage in the home. This represents:

A) the premium; B) the statistical calculation;

C) the insurable interest; D) the indemnity.

7) State which of the following risks cannot be insured against:

A) changes in fashion; B) stealing by the staff;

C) accident to customers; D) fire damage on the premises.
8) Those who accept risks at Lloyds, the marine insurance center, are:
A) supervisors; B) marine agents;

C) underwriters; D) premium assessors.

9) The principle of subrogation means:

A) insured persons are liable to pay extra premiums;

B) the insurance company is entitled to benefit financially from any additional rights which
may be due over and above the indemnity value of the loss;:

C) the insured person must be completely indemnified;

D) to act in utmost good faith.
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10) Insurance may be defined as:

A) the best thing for house owners and shopkeepers to do;
B) the best way to prevent a fire or a burglary;

C) a financial protection against an event which may happen;

D) the thing which all sensible businessmen do.

Test 7 Retail Trade

1) A form of retailing frequently described as a collection of shops under one roof is
called a:

A) mail order house; B) department store;

C) multiple store; D) supermarket;

E) direct selling.

2) A form of retailing often referred to as ‘fireside shopping' is a:

A) department store; B) market stall;

C) voluntary chain; D) variety chain;

E) mail order house.

3) A loss leader is:

A) the best product in the shop;

B) an article in the Financial Times;

C) a claim through an insurance company;

D) an article sold cheaply to attract customers;

E) a free gift with a purchase.

4) A mail order business usually differs from other forms of retailing because:
A) a charge is made for delivery; B) no agents are used;

C) goods must be paid for in cash; D) the buyer and seller never meet;
E) the goods are displayed in a showroom.

§) Agents working for a mail order company are usually paid their commission:
A) as soon as they make a sale; B) before the customer pays for the goods;
C) in arrears by cheque; D) by standing order;

E) by the customers.
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6) Supermarkets are more likely to be able to offer their goods at a competitive price
to their customers because:

A) they give quick service; B) they are located in convenient places;
C) they offer a personal service; D) they buy many of their goods in bulk;
E) they have attractive displays.

7) Which one of the following types of retail outiets offers many personal services
for the use of its customers?

A) the supermarket; B) the variety chain;
C) the department store: D) the mail order company;
E) the voluntary chain.

8) If it is difficult to decide whether a retail shop is a multiple or a department store it
will probably be a:

A) supermarket; B) voluntary chain;

C) a small shop; D) a variety chain store;

E) a direct selling unit.

9) The person who controls a department in a department store is usually cailed the:
A) supervisor, B) agent; C) accountant; D) buyer; E) personnel manager.

10) With which of the following kinds of retailing would the customer usually see
the product advertised in a newspaper and send his payment by post?

A) the supermarket; B) the muiltiple;
C) the market stall; D) the voluntary chain;
E) direct selling.

Test 8 Payments

1) An item will become your property after you have made the first payment if you
have signed the following agreement:

A) rental agreement; B) credit sale agreement;
C) hire purchase agreement; D) loan agreement;
E) purchasing agreement.

2) Which type of organization usually finances hire purchase and credit sale
agreements?

A) a building society; B) a chartered bank;
C) bank discount departments; D) a finance company;
E) the Loans Society.
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3) When the hirer (under a hire purchase agreement) has paid more than one-half of
the total hire purchase price:

A) he can return the goods to the vendor without having to make further payments;
B) he has to keep the goods until he has paid a further payment;

C) he can pay the full hire purchase price plus 5%;

D) he can sell the goods to anyone to whom he wishes to sell them;

E) he can keep the goods without making any further payments.

4) A court order is needed to repossess the goods if:

A) less than one-third of the total hire purchase price has been paid;

B) more than one-third of the total hire purchase price has been paid;

C) more than six payments have been paid;

D) the hirer wants to keep the goods;

E) the court refers the matter to a higher authority.

5) The total hire purchase price is:

A) the cash price plus 10%,

B) the selling price of the goods less the discount which may be charged,;
C) the price laid down by the finance company;

D) the cash price plus the interest charged;

E) the total interest charged during the first half of the agreement.

6) If the credit agreement is signed in any other place than the offices of the vendor,
then the hirer may change his mind and put an end to the agreement providing he
informs the vendor in writing within the following period of time:

A) 24 hours;  B) 5 days; C) 2 weeks; D) 10 days; E) 5 hours.

7) When goods have a low secondhand resale value they are normally sold using a:
A) long payments system; B) credit sale agreement;

C) hire purchase agreement; D) credit card;

E) cheque system with a bankers card.

8) If goods with a cash price value of £125 and a deposit paid of £25 were bought
under a hire purchase agreement which charged an interest rate of 20%, how much
per month would the hirer have to pay to the vendor over a period of 12 months?

A) £5.00; B) £15.00; C) £12.50; D) £12.40; E) £10.00.

9) Under a hire purchase agreement the vendor may repossess the goods without a
court order if:

A) the hirer has paid less than half of the total hire purchase price;
B) the hirer has paid less than one-third of the total hire purchase price;
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C) the hirer breaks the goods;
D) the hirer brings the goods back to the shop;
E) the hirer becomes unemployed.

10) If the government raises the percentage of deposit required under credit
agreements and shortens the repayment period required it is probably:

A) trying to raise more tax revenue;

B) thinking of increasing the V.A.T. rate on the goods;

C) trying to limit the amount of consumer credit spending;

D) trying to increase the amount of consumer credit spending;
E) trying to win more support from industrialists.

Test9 Wholesale Trade

1) Which of the following services does the wholesaler often perform?
A) offering credit to the manufacturer;

B) selling direct to the consumer,;

C) providing showroom facilities for the manufacturer and the retailer;

D) giving credit facilities to consumers;

E) never allowing retailers any credit facilities.

2) In which of the following ways do mail order businesses differ from other forms
of retailing?

A) a charge is made for delivery; B) credit is never allowed;

C) the buyer and seller never meet; D) goods may not be returned if unsuitable;
E) brand-named goods are always sold.

3) When the wholesaler is omitted from the process of selling this is called:

A) a hypermarket; B) integration; C) cash and carry;

D) direct selling; E) containerization.

4) A product that is suitable for direct selling from manufacturer to retailer is:

A) furniture; B) milk; C) food; D) carpets; E) electrical products.
5) What has caused the decline in recent years of the use of the wholesaler?

A) the development of voluntary chains;

B) the development of the mail order business;

C) the development of door to door selling;

D) the development of the co-operatives societies;

E) the growth of large-scale retail units.
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6) The wholesaler usually has his premises in the following location:
A) in a group of shops on the edge of the town;

B) next to the largest factory in the district;

C) near to the ports so that he can satisfy export orders quickly;

D) located near to as many supermarkets as possibly;

E) in a warehouse near a large town or city.

7) The difference between the buying-in price and the selling price is often called:
A) the mark-up; B) the minimum profit; C) the gross cost;

D) the average cost; E) the marginal cost.

8) When a retailer buys his goods from the manufacturer or manufactures his own
products, this is sometimes called:

A) indirect selling; B) direct selling; C) mail order selling;

D) convenience selling; E) cash and carry selling.

9) Which of the following is not a service which is provided by a wholesaler?
A) advertising for the manufacturer;

B) giving credit to reliable retailers;

C) providing showroom facilities where the goods may be viewed by retailers;
D) paying the manufacturer promptly for the goods which he supplies;

E) not giving cash discount for orders paid for in cash immediately.

10) Trade discount is a discount given to the following:

A) all good customers to the wholesaler;

B) most customers who ask for it;

C) only people who have their business listed in the Yellow Pages telephone directory;
D) traders who can give proof that they are currently trading in the business;

E) customers who can pay cash for their goods.

Test 10 Business Documents
1) What is the letter of enquiry?

A) a letter asking for reference from a bank;

B) a letter giving price details;

C) a letter written by the retailer to the wholesaler asking him to give details of the goods
which he can supply;

D) a communication which all wholesalers make;

E) a letter which enquires about the address of the retailer.
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2) What is the name given to the list which gives full details of the goods which the
wholesaler can supply their trade prices and any discounts available?

A) the supplier's list; B) the processing list; C) the advice list;
D) the price list: E) the final list.

3) When a retailer decides that he wishes to purchase some goods from a
wholesaler he will place the following with him:

A) a weekly enquiry; B) a budget account; C) a market enquiry;
D) an order; E) a special discount.

4) The following document informs the retailer that the wholesaler has dispatched
the goods to him:

A) the order form; B) the credit note; C) the debit note;
D) the receipt form; E) the advice note.

5) The most comprehensive document produced by the wholesaler when he
supplies goods to a retailer is the:

A) enquiry;  B) invoice; C) stock sheet; D) control voucher; E) copy.

6) Which document must the receiver sign and the driver produce when he or she
delivers the goods to the retailer?

A) the credit note; B) the advice note; C) the delivery note;
D) the order; E) the receipt.

7) At the end of the month the wholesaler will normally send the following to the
retailer:

A) the summary letter; B) the V.A.T. statement; C) the suspension list;
D) the statement; E) the advice note.

8) What is the name given to the document which acknowledges payment for
goods?

A) the receipt; B) the order, C) the advice form;
D) the money form; E) the goods invoice form.

9) If a retailer has to return damaged goods to the wholesaler, then the wholesaler
will normally issue the retailer with:

A) a damage certificate; B) a returns voucher; C) a credit note;
D) a debit note; E) a damage report.

10) If for any reason the wholesaler has underchanged the retailer, e.g. sent him too
many goods, he will normally send him the following document:

A) the debit note; B) the invoice advice; C) the undercharge letter;

D) the bank statement; E) the credit note.
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Test 11 Advertising and Marketing
1) “Which?” is a magazine circulated mainly for the purpose of:

A) advertising new consumer goods;

B) providing independent advice to consumers;

C) promoting new shops;

D) recommending foods.

2) We associate the 'kite mark' with the:

A) British Standards Institution; B) Consumers' Association;

C) Consumer Council; D) Design Centre.

3) The cost of advertising usually falls on:

A) the wholesaler; B) the retailer; C) the consumer; D) government.

4) Which of the following would be the most effective way for a small business to
advertise?

A) by hoardings; B) by local newspapers;

C) by national newspapers; D) by national television.

5) If an advertisement describes the quality of a product it may be called:
A) television advertising; B) persuasive advertising;

C) technical advertising; D) trade fair advertising.

6) If a radio and television manufacturer wished to advertise its products to the
wholesale trade it would probably use the following:

A) handbills; B) cinemas; C) technical journals; D) television advertising.

7) Which of the following would indicate that advertising had been successful?

A) more people made enquiries about your goods;

B) more representatives called at your factory to see you about the goods;

C) more goods were sold by you to the consumer;

D) you decided to acquire new premises.

8) Apart from technical journals the aircraft industry also advertises its products by:
A) television; B) trade fairs and shows of a similar kind;

C) neon displays; D) hoardings.

9) What is an excellent way of making sure that the name of your product is always
in the mind of the consumer?

A) using neon displays; B) using hoardings;
C) using a brand name; D) always advertising on the same day.
10) Which is the most expensive kind of advertising?
A) local newspapers; B) handbills; C) radio; D) television.
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Test 12 Foreign Trade

1) An unfavorable balance of trade is when:

A) import costs exceed export earnings;

B) export earnings exceed import costs;

C) exports and imports are equal;

D) the Chancellor of the Exchequer produces his budget.

2) The income from Britain's insurance earnings from abroad is referred to as:
A) an invisible import; B) an invisible export;

C) visible trade; D) sterling balances.

3) Great Britain's main exports are:

A) chemical products; B) food;

C) engineering products; D) alcoholic drinks.

4) Which of the following would be likely to cause other countries to retaliate?
A) deflation in the economy; B) imposing import duties;

C) increasing wholesale prices in the home country;

D) nationalizing more of the nation's weaith.

5) One of the following is said to be the basis upon which international trade is built:
A) good banking; B) good transport;

C) specialization; D) good trade union organization.

6) Which of the following is an invisible export of Great Britain?

A) oil; B) food; C) insurance facilities; D) engineering products.

7) What do we mean when we say that the pound has appreciated against other
currencies?

A) it is worth less; B) it is worth the same:

C) it is worth more; D) it is worth proportionally less.
8) The terms of trade show:

A) the balance of trade position;

B) the relationship between export prices and import prices;

C) the difference between the visible and invisible earnings:

D) the value of the pound sterling against the American dollar.
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9) Which of the following countries is not a member of the European Economic
Community?

A) France; B) West Germany; C) Spain;
D) East Germany; E) Republic of Ireland.
10) What is the name given to the secure storage which goods are placed in

until import duties are paid?

A) the main dock area; B) the storage sheds;
C) the embargo centre; D) the bonded warehouse.
Test 13 Export/import Documents

1) What is the name given to the process of bringing goods direct from overseas
into the home country?

A) balance of trade; B) export provision;
C) direct importing; D) direct exporting;
E) storage.

2) What is the name given to people who buy foreign imported goods and then sell
them to wholesalers in the home country?

A) export merchants; B) import licensees;
C) warehousemen,; D) import merchants;
E) direct exporters.

3) What is the name given to a person who makes bargains between buyers and
sellers of goods?

A) exporter; B) importer;  C) broker; D) confirming agent; E) city agent.

4) What is the name given to the document which controls the flow of goods into a
country?

A) an audit report; B) an import auditor; C) an excise certificate;

D) import licence; E) Bill of Lading.

5) What is the name given to the receipt document for goods due to be exported by sea?
A) Bill of Lading; B) certificate of origin; C) import licence;

D) letter of credit; E) shipping agent's receipt.

6) What is the name given to the document that can be used to obtain credit
abroad? It is usually issued by a bank.

A) a clearance certificate; B) a credit note; C) an overseas credit note;

D) a letter of credit; E) a consular invoice.
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7) What is the name given to the place where goods have to be left until customs or
excise duty has been paid?

A) a bonded warehouse; B) an entry building; C) a customs shed;
D) an overseas duty building; E) an import warehouse.

8) What is the name given to the government department that provides insurance
cover for exporters?

A) the commercial department;

B) the Export Credit Guarantee Department;

C) the overseas insurance department;

D) the import and export insurance department.
E) the European Economic Community.

9) What is the name of the payment document that may be offered for sale on the
discount market?

A) the BLWU of Exchange; B) a banker's draft; C) a standing order;
D) a direct debit; E) a discount order.

10) Most goods are normally paid for by one of the following:

A) agreement orders; B) money orders; C) postal orders;

D) bank transfer,; E) letter of credit.

Test 14 Working and Saving

1) What is the approximate size of the working population of Great Britain?

A) 10 million; B) 15 million;  C) 20 million; D) 25 million; E) 30 million;

2) Which of the following classifications of workers are said to be the most
immobile?

A) professional; B) managerial; C) technological;
D) skilled manual; E) unskilled manual.

3) If a person accepted a job at a salary of £7000 per annum what would be his
gross annual income if he paid income tax at 25% and could claim allowances of
£3000 per annum as a married man?

A) £7000; B) £5250; C) £2250; D) £7750; E) £10000.
4) Income tax is paid to one of the following:

A) the local tax and insurance department;

B) the Inland Revenue;

C) the Customs and Excise;

D) the department of government taxation;

E) the local town hall.
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5) When income tax, National Insurance contributions, superannuation and other
payments have been deducted from a worker’s pay it is sometimes referred to as his:

A) net allowance pay; B) contribution pay; C) disposable income;
D) taxable income; E) taxable allowances.

6) What is the major item of expenditure out of a worker's pay?

A) clothing; B) entertainment; C) food;

D) housing; E) travelling.

7) When a person saves by depositing money in a building society which of the
following amounts would probably receive the highest interest rate?

A) £200; B) £2000; C) £20000; D) £40000; E) £80000;

8) Which of the following kinds of savings methods would probably carry the most
risk?

A) the building society; B) the purchase of ordinary shares;
C) deposit account of a commercial bank; D) local authority bonds;

E) the National Savings Bank.

9) If a saving does not fall in value as the cost of living rises it is probably:

A) index linked; B) the blue chip bond; C) a debenture loan;
D) in a deposit account; E) in a current account.

10) The owner of the following kind of bond receives no interest, but may win a cash
prize when the E.R.N.L.LE. makes its monthly number draw.

A) the Prize Bond; B) the Gilt Edged Bond; C) the Premium Bond;
D) the Government Bond; E) the Local Authority Bond.

UNIT 4 EXPRESS TESTS

Test 1

1) Translate from English into Russian: When managers motivate subordinates, direct
the activities of others, select the most effective communication channel, or resolve
conflicts among members, they are engaging in leading.

2) Translate from Russian into English: B cosBpemeHHOM Mupe CywecTsyloT Aase
OCHOBHbIE 3KOHOMUYECKUE CUCTEMBI: KanUTanu3m u counanusm. Yro otnuyaeTt ux apyr ot
APYra, Tak 3TO KOHTPONb HaA CPeACTBaMKU NPOW3BOACTBA W B3aumoaeicTene GuaHeca w
npasuTenbCTBa.

3) Provide the correct Russian and English equivalents: To gain people's confidence.
OCHOBHblE KPUTEPUN IKOHOMUYECKOW NONUTUKMN.
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4) Use the right form(s) of the verb in brackets: Neither the manager of the firm nor the
employees \to satisfy\ with the results of their work last year.

5) Insert article(s) where necessary: ... English parliament consists of two chambers:
...House of Lords and ... House of Commons.

6) Fill in the blanks with prepositions where necessary: Personal property which has
become incorporated ... real property belongs ... the owner of the realty irrespective of who
owned the personal property ... such incorporation.

7) Ask questions: a) to the subject of the sentence; b) to the predicate: Our country
exported much petrol and gas last year.

8) Use the phrase in the Passive voice: Contract law affects most aspects of any
business operation

9) Answer the question: What is consideration? What forms can it take?

Test 2

1) Translate from English into Russian: Every agreement enforceable at law is a
contract. This definition is far from correct. An agreement which cannot be enforced at law,
because it doesn't fulfil the requirement of certain statutes, may be a contract.

2) Translate from Russian into English: Hukorga paHbwe Mup He wmen Takux
6e3rpaHnYHbIX BOZMOXHOCTEW ANA Pa3BUTUR umBunu3auuu. Ho B TO Xe BPEMS 3TO MWp,
KOTOPbIii NepenonHeH ONacHOCTAMU U NPOTUBOPEYNAMH.

3) Provide the correct Russian and English equivalents: To track a customer
satisfaction level. Po3Hn4Hble U ONTOBbLIE TOProBUb.

4) Use the right form(s) of the verb in brackets: The formal statement \to make\ by a
witness in court \to call\ a proof.

5) Insert article(s) where necessary: Great Britain is ... constitutional monarchy -...
kingdom.

6) Fill in the blanks with prepositions where necessary: A specialty, contract, or deed,
is one that i not only reduced ... writing, but also executed ... seal, and delivered.

7) Ask questions: a) to the subject of the sentence; b) to the predicate: Commission
agents will be transacting business for other persons in the near future.

8) Use the phrase in the Passive voice: lllegal considerations will not make binding
contracts.

9) Answer the question: What are the main features of capitalism, as an economic
system?
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Test 3

1) Translate from English into Russian: A contract of sale is an agreement by which
one or two contracting parties conveys a thing and passes a title to it in exchange for a
certain price to another who on his part either pays the price or agrees to pay it.

2) Translate from Russian into English: CrpaxoBaHue- oauH U3 BaXHEWWWX
counanbHblX WHCTUTYTOB, HEOOXOANMBIA ANA PYHKUMOHUPOBaHUSA NGO HauMoHanbLHoOW
3KOHOMMKN. CyllecTByeT HECKOnbko cnocoboB CTpaxoBaHua, Hanbonee w3BECTHbIM U3
KOTOPbIX ABNAEMCA CTPaxoBaHWE NO OCHOBHbLIM KaTEropusiM- JKU3HW, 340POBbLA.
nmyllecTsa.

3) Provide the correct Russian and English equivalents: To rise in price. Cpeactsa
KOMMYHUHKaumu.

4) Use the right form(s) of the verb in brackets: The process \to divide\ a total market
into different segments is called market segmentation.

5) Insert article(s) where necessary: ... Lake Baikal is ... largest freshwater lake in ...
Asia and ... Europe and ... deepest in the world.

6) Fill in the blanks with prepositions where necessary: All simple contracts, whether
.... writing or made ... word ... mouth, require consideration to support them.

7) Ask questions: a) to the subject of the sentence; b) to the predicate: The customer
transferred the required amount of money into his supplier's account.

8) Use the phrase in the Passive voice: Goods-producing firms produce tangible
products or goods,

9) Answer the question: What are, in your opinion, the true causes of international
conflicts and terrorism in our days?

Test 4

1) Translate from English into Russian: The process of dividing a total market into
subgroups with similar characteristics is market segmentation. A simple example of
segmentation is division of a total market into consumer and industrial.

2) Translate from Russian into English: Mpu Hanu4un n3bbiTouHOro cnpoca Ha Tosap
Ha HeperynupyemoMm pbiHKe NoABNAETCA TEHAEHUUA K POCTY UEeH, NOCKONLKY noTpebuteny
KOHKYPUPYIOT ApPYr C APYrOM NpW OrpaHWYEHHOM npeanoxeHuw. 3Ta TeHAeHuws
COXpaHAETCA, Noka WU3ObITOYHLIA CNPOC He ByaeT yCcTpaHeH.

3) Provide the correct Russian and English equivalents: To have the right of disposal
of the goods. AreHTckne A0roBopsl (KOHTPaKTbI) U KOHTPAKTb! MUYHOrO HaNMa.

4) Use the right form(s) of the verb in brackets: The competitive company \to offer\ an
attractive price reduction now.

5) Insert article(s) where necessary: Europe's biggest river, ... Volga, flows into...
Caspian Sea.

6) Fill in the blanks with prepositions where necessary: The offer or acceptance, or
both, may be made either ... words or ... conduct.
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7) Ask questions: a) to the subject of the sentence; b) to the predicate: People do not
understand what to do with shares they have.

8) Use the phrase in the Passive voice: You will receive a warning for speeding if you
drive fast.

9) Answer the question: What are the main topics of any international commercial
contract?

Test5

1) Translate from English into Russian: Product strategy extends beyond the physical
item itself to include decisions about brands, labels, trademarks, packaging, guarantees,
new product development and the product life cycle.

2) Translate from Russian into English: MpaxaaHckue npaBoHapyweHus NpeacTaBnaoT
coboit BpeA, NPUYUHEHHBIA OAHWM 4YacTHbIM NULOM APYrOMY 4aCTHOMY nuuy, ero
UMYLIECTBY U penyTauuu.

3) Provide the correct Russian and English equivalents: To enforce the laws.
MNoTpebutenbCkMil PIHOK ¥ PHIHOK NPOMbBILLNEHHbIX TOBAPOB.

4) Use the right form(s) of the verb in brackets: In the USA criminal cases \to hear\
primarily in the courts of county jurisdiction.

5) Insert article(s) where necessary: There are many interesting and useful professions
in our country, but to choose ... profession is not ... easy thing.

6) Fill in the blanks with prepositions where necessary: Rights and obligations may
attach ... party ... a contract.

7) Ask questions: a) to the subject of the sentence; b) to the predicate: In a few days
the competitive firm will proceed to allotment of its shares.

8) Use the phrase in the Passive voice: By conducting marketing research marketers
will acquire the necessary information on consumer,

9) Answer the question: Who fixes the price if a contract is made?
Test6

1) Translate from English into Russian: In most countries an important distinction is
made between private (civil) and public law.

2) Translate from Russian into English: B TeueHne MHorux net 8 6bina AUPEKTOpoM
4YaCTHOW WKONb! ANA AeBoyek. Kaxaoe NeTto Mbl OTNPaBRAsEM NyYLWNX yYeHUUY 3a rpaHuuy
Ha KaHWUKyNb!.

3) Provide the correct Russian equivalent: to veto the law

4) Use the right form of the verb in brackets: We're going (to spend/spending) a few
days preparing this bill.

5) Use the phrase in the Passive Voice: Any congressman may initiate new legislation.
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6) Put questions: a) to the subject, b) to the predicate of the sentence. In the third
millenium humanity faces a lot of problems.

7) Answer the question: How do you understand the category of "economic system"?
Try to define it.

Test 7

1) Translate from English into Russian: One can give his bank the charges for regular
payments, such as rent, gas, water, or electricity bills and insurance premiums.

2) Translate from Russian into English: 3710 xopowwh o6blvai ykpawarte ropoa
cnaramu NO CAYYAI0 BAXHbIX MEPONPUATUA.

3) Provide the correct Russian equivalent: to live a busy life

4) Use the right form of the verb in brackets: We (to visit) our friend and now we are
sure he will be all right.

5) Use the phrase in the Passive Voice: In case of disagreement firms deal with the
problem by discussion.

6) Put questions: a) to the subject, b) to the predicate of the sentence. You should
stay on the ground for some days after an operation.

7) Answer the question: What is business? What is ultimate goal of business?

Test 8

1) Translate from English into Russian: Wholesale dealers often have sales
representatives who visit their clientele, and give them advice about the purchase.

2) Translate from Russian into English: "Bac nogse3tv ao aoma?" - "bBnaroaapto sac,
HO 5 poeny aBTo6ycoMm. 75 06bIMHO XOPOLLO XOAWUT B 3TO Bpems.”

3) Provide the correct Russian equivalent: to contribute... to...
4) Use the right form of the verb in brackets: | can't stand (to watch) films about war.

5) Use the phrase in the Passive Voice: In 1855 he took his first group of tourists to
Paris.

6) Put questions: a) to the subject, b) to the predicate of the sentence. We use this
room only when we've got guests.

7) Answer the question: What does the planning function of management consist of?

Test9

1) Translate from English into Russian: Modern trade cannot exist without the service
banks perform. They also make it possible that business transactions go on cash terms.
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2) Translate from Russian into English: Mbi Haxoaumcs B 60nNbwom ropoACKOM napke,
rA€ MHOro AepeBbeB u Tpasbl. [peKpacHbi NeTHUIA AeHb, CBETUT CONHUe.

3) Provide the correct Russian equivalent: consumer market

4) Use the right form of the verb in brackets: | fell down when | (to run) through the
park.

5) Use the phrase in the Passive Voice: Economics solve fundamental problems of
development of each country.

6) Put questions: a) to the subject, b) to the predicate of the sentence. Nearly
everyone agrees that Americans are friendly and polite.

7) Answer the question: On what principles, in your opinion, should international
relations be built?

Test 10

1) Translate from English into Russian: Success in running your business, in the end
depends on providing something your potential customers will want to buy from you.

2) Translate from Russian into English: Tomac Kyk 6bin cexpetapeM MeCcTHOW UEepKsy.
Ero paboTon 6bina oprann3aumns xeneaHoa0pOXHbIX NOE3A0K ANA YNEHOB UepKBU.

3) Provide the correct Russian equivalent: to a great extent
4) Use the right form of the verb in brackets: | (to study) at the Institute for four years.

5) Use the phrase in the Passive Voice: We never talk about religion or matters of
finance.

6) Put questions: a) to the subject, b) to the predicate of the sentence. The hearing of
the case starts at 8 a.m. on Sunday.

7) Answer the question: What does the staffing function of management include?

Test 11

1) Translate from English into Russian: Should a bank go bankrupt. the losses are
going to be reimbursed from a special fund of the credit system.

2) Translate from Russian into English: A He Byay 3aece agonro. A npuay AOMOW OKONO
NATWU YaCcoB, €CNYU MHe He NPUAETCS A0Nro XAaTb asTobyca.

3) Provide the correct Russian equivalent: market forces of supply and demand

4) Use the right form of the verb in brackets: My parents (to come) here from Greece in
1985. | (to be) eight years old then.

5) Use the phrase in the Passive Voice: People will speak a lot about this new film.
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6) Put questions: a) to the subject, b) to the predicate of the sentence. They are going
to spend a couple of weeks in the country.

7) Answer the question: What are the main features of capitalism as an economic
system?

Test 12

1) Translate from English into Russian: Nowadays humanity needs effective economic
procedures and mechanisms which would guarantee rational use of natural resources as
the common property of humanity.

2) Translate from Russian into English: B Mockse e3aauTb no ropoay Ha senocunene
0NacHO - O4eHb MHOTO MAaLLUMH U HET CneunanbHbiX BENOCUNEAHbIX AOPOXEK Ha NPoe3xen
vactu.

3) Provide the correct Russian equivalent: to make an appointment

4) Use the right form of the verb in brackets: We came to the station on time but they
(to leave) already.

5) Use the phrase in the Passive Voice: Many companies send catalogs to their
consumers.

6) Put questions: a) to the subject, b) to the predicate of the sentence. The two
women were sitting and talking like old friends.

7) Answer the question: What is profit in business?

Test 13

1) Translate from English into Russian: Psychiatry is a branch of medical science that
concerns the emotional world of a person.

2) Translate from Russian into English: Kro-To noctyuan 8 asepb. 1 HUKOro He xpana,
noatomy s Gbina yamenexa. A nogowna k ABEPW W OTKPbINa ee. 3a ABEPbIO CTORNA MOS
noapyra.

3) Provide the correct Russian equivalent: to make a will

4) Use the right form of the verb in brackets: | (to cross) the street when the car hurt
me.

5) Use the phrase in the Passive Voice: You cannot stop the depletion of natural
resources by the efforts of one state.

6) Put questions: a) to the subject, b) to the predicate of the sentence. He decided to
stay in the office to think of the details of the contract.

7) Answer the question: What do factors of production comprise?
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Test 14

1) Translate from English into Russian: The right to private property includes land,
buildings, equipment and intangible property such as inventions.

2) Translate from Russian into English: Otens "MeTpononb" HaxoaWTcs B UEHTpe
ropoaa. 370 NpekpacHoe CTapuHHOE 34aHWe C NYYWWUMKU TPAAULMUAMU aHTMUACKOrO
YaenuTus.

3) Provide the correct Russian equivalent: bad news does not come with a smile

4) Use the right form of the verb in brackets: My friends (to work) for Disney
corporation, they (to be) designers.

5) Use the phrase in the Passive Voice: Every year world industry pollutes the
atmosphere.

6) Put questions: a) to the subject, b) to the predicate of the sentence. | cut my hand
on some glass the day before yesterday.

7) Answer the question: What is contract?

Test 15

1) Translate from English into Russian: | shall graduate from the University having the
profession of an economist. In future I'm going to improve my skills and knowledge.

2) Translate from Russian into English: Bunet Ha noeaa croun o4eHb A0poro. Y Hero
0CTaBaNOCh OYEeHb Mano AEHer, Tak Kak NoTPaTUN Ha NyTewecTBUE CAULWKOM MHOrO.

3) Provide the correct Russian equivalent: on the eve of the holiday

4) Use the right form of the verb in brackets: There are laws which (to govern) working
conditions.

5) Use the phrase in the Passive Voice: Contradictions affect every country as well as
mankind's development.

6) Put questions: a) to the subject, b) to the predicate of the sentence. Many people
think of a contract as a written agreement between people.

7) Answer the question: What are the main elements of any business contract?

Test 16

1) Translate from English into Russian: The service at the store should be fast and
friendly. A retail dealer must have enough supply in order not to disappoint his customers.

2) Translate from Russian into English: O6biMHO 5 OTBOXY CBOIO XeHy B CynepmapkeT B
cy660Ty yTPOM 1 XAy NOKa OHA caenaeT NOKynkw.

3) Provide the correct Russian equivalent: for the sake of
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4) Use the right form of the verb in brackets: Yesterday morning he (not to go out)
because he (to be)ill.

5) Use the phrase in the Passive Voice: In pure capitalism the buyers and producers
regulate the marketplace.

6) Put questions: a) to the subject, b) to the predicate of the sentence. Dr. Parise
went on a nine-day mission round the Earth.

7) Answer the question: What is market? What types of markets are there?

Test 17

1) Translate from English into Russian: The problem today is of determining whether or
not the corporation can market the products it is capable to produce.

2) Translate from Russian into English: Mbi xuBem B ropoae, HO TONbKO NOTOMY, YTO A
Tam paborat. Ha yuk3aHa Mbl Bceraa yeaxaem 3a ropoa.

3) Provide the correct Russian equivalent: to draw up (to make) a contract

4) Use the right form of the verb in brackets: Tony (to work) for the Disney Corporation.
He (to meet) another imagineer this afternoon.

5) Use the phrase in the Passive Voice: We fill pillows with feathers so that they are soft.

6) Put questions: a) to the subject, b) to the predicate of the sentence. In pure
capitalism supply and demand will balance each other.

7) Answer the question: What does economics study? What is the main subject of this
science?

Test 18

1) Translate from English into Russian: A wholesale dealer should have enough money
to pay his supplies in advance, while his customers are allowed a 2 or 3 months credit
limit.

2) Translate from Russian into English: Mou poautenu npuexanu cioaa u3 peuuu.
MHe 6bino Bocemb net. Koraa mbl npuexanu B CugHen, Mbi fenunu KpoB euje ¢ OAHON
ceMben.

3) Provide the correct Russian equivalent: to solve urgent problems

4) Use the right form of the verb in brackets: In 1854 Thomas Cook (to give up) his
job as a printer and (to take) his first group of tourists to Paris.

5) Use the phrase in the Passive Voice: Harmful substances pollute the land all over the
world.

6) Put questions: a) to the subject, b) to the predicate of the sentence. St. Valentine
performed marriage ceremonies for Roman soldiers.

7) Answer the question: What is management?
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Test 19

1) Translate from English into Russian: The company becomes completely consumer
oriented because most of today's products come about as a result of marketing research.

2) Translate from Russian into English: OnacHo umeTb npu cebe Gonblwyilo Cymmy
HanuuHbix. Jlyywe BoCNONb30BaTLCA GaHKOBCKUM YEKOM MyTeWeCTBEHHWKA, KOTOPbIA
MOXHO 06HanuuuTL B Ntobom otene unu 6aHke mupa.

3) Provide the correct Russian equivalent: a developed/developing country
4) Use the right form of the verb in brackets: | don't mind (to do) my homework.

§) Use the phrase in the Passive Voice: We should take serious measures to save the
environment.

6) Put questions: a) to the subject, b) to the predicate of the sentence. My friends
always hire a car when they are in Britain.

7) Answer the question: What are the main managerial functions?

Test 20

1) Translate from English into Russian: Today the basic business is providing service.
Service is involved in many large and profitable enterprises.

2) Translate from Russian into English: AHrnuyaHe roBopsT, YTo y HUX TPW BapuaHra
noroAbl: KOrAa AOXKAb WAET C yTPa, KOrAa AOKAb MAET AHEM WU KOrAa AOXAb WAET uenbiv
A€eHb.

3) Provide the correct Russian equivalent: to accumulate savings

4) Use the right form of the verb in brackets: Usually we (to take) meals at home, but
today we (to have dinner) at a restaurant.

5) Use the phrase in the Passive Voice: They mark the buns with a cross before they
bake them.

6) Put questions: a) to the subject, b) to the predicate of the sentence. People would
not risk the money if they get no profits.

7) Answer the question: What economic systems do you know? What distinguishes one
economic system from another one, in your opinion?
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